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vifBr x|ka'k ,oa i|ka'k

[k.M - 2 % fgUnh Hkk"kk

vifBr x|ka'k
funsZ'k (iz'u la[;k 1 ls 9 rd)

uhps fn, x, x|ka'k dks i<+dj iwNs x, iz'uksa ds 
lcls mfpr mÙkj okys fodYi dks pqfu,A

D;ksa \ ,d ,slk loky gS] ftldk tokc nsus dk iz;kl 
ge ekrk&firk ges'kk ls djrs vk, gSaA ;g vPNh ckr gS 
fd cPps loky iwNrs gSaA lh[kus dk blls cf<+;k dksbZ 
vkSj rjhdk ugha gks ldrkA lHkh cPpksa ds ikl lh[kus 
ds nks lzksr gksrs gSa & dYiuk'khyrk vkSj mRlqdrkA 
ekrk&firk ds :i esa vki vius cPps dh dYiuk'khyrk 
o mRlqdrk dks c<+kok nsdj mls lh[kus ds vkuan ls 
ljkcksj dj ldrs gSaA f'k{k.k vkSj lh[kuk egt Ldwy 
dh pkgjnhokjh ds Hkhrj laiUu gksus okyh jgL;e; 
xfrfofèk;k¡ ugha gaSA os rc Hkh gksrh gSa] tc ekrk&firk 
vkSj cPps csgn vklku phtksa dks lkFk&lkFk djrs gSaA 
mnkgj.k ds fy,] èkqyus okys diM+ksa ds <sj ls ekstksa dks 
muds tksM+ksa ds fglkc ls Nk¡Vdj xf.kr vkSj foKku 
dh xqfRFk;k¡ lqy>k ldrs gSaA lkFk feydj [kkuk cuk 
ldrs gSa] D;ksafd [kkuk cukus ls xf.kr vkSj foKku ds 
vykok vPNh lsgr dh Hkh lh[k feyrh gSA ,d&nwljs 
dks dgkfu;k¡ lquk ldrs gSaA dgkuh lqukuk i<+us vkSj 
fy[kus dk vkèkkj gSA mNy&dwn okys [ksyksa ls cPPks 
fxurh lh[krs gSa vkSj thou&i;±r vPNh lsgr dk 
ikB Hkh i<+rs gSaA cPPkksa ds lkFk feydj dqN djus 
ls vki le> tk,¡xs fd lh[kuk euksjatd vkSj csgn 
egÙoiw.kZ fØ;kdyki gSA

 1. x|ka'k ds vkèkkj ij dgk tk ldrk gS fdµ

  (A) ekrk&firk dks cPpksa ds lokyksa ds tokc 
ugha nsus pkfg,A

  (B) cPPks jksT+kejkZ ds dk;ks± ls Hkh cgqr dqN 
lh[k ldrs gSaA

  (C) dgkuh lqukuk gh lh[kus dk ,dek= 
vkèkkj gSA

  (D) lh[kuk Ldwy ds Hkhrj gh laHko gSA

 2. dYiuk'khyrk vkSj mRlqdrk dks c<+kok nsus ls 
cPPkkµ

  (A) lh[kus ds vkuan esa Mwc tkrk gSA

  (B) vPNh cgl dj ldrk gSA

  (C) vPNk ukxfjd cu ldrk gSA

  (D) Lo;a dgkfu;k¡ cukdj lqukrk gSA

 3. ^euksjatd* 'kCn gSµ

 (A) fo'ks"k.k (B) loZuke

 (C) laKk (D) fØ;k

 4. ^thou&i;±r 'kCn dk vFkZ gSµ

  (A) thou dk var

  (B) lq[kh thou dk var

  (C) thou vkSj ifjokj

  (D) thou Hkj

 5. ^mRlqdrk 'kCn esa izR;; gSµ

 (A) lq (B) rk

 (C) drk (D) mr~

 6. fduds ̂ D;ksa\* iz'u dk mÙkj nsus dk iz;kl ge 
djrs vk, gSa\

 (A) cPpksa ds (B) lekt ds

 (C) f'k{kdksa ds (D) ekrk&firk ds

 7. lh[kus dk cf<+;k rjhdk gSµ

  (A) mÙkj nsuk

  (B) foLrkj ls le>kuk

  (C) iqLrd i<+uk

  (D) iz'u iwNuk 

 8. cPpksa ds ikl lh[kus ds lzksrksa esa ls ,d gSµ

  (A) mRlqdrk (B) vè;kid

  (C) ikB~;iqLrd (D) ekrk&firk

 9. lh[kuk rc Hkh gksrk gS] tc ekrk&firk vkSj 
cPpsµ

  (A) x`gdk;Z feydj djsaA

  (B) feydj [kkuk cukuk lh[ksaA

  (C) dsoy NksVs vkSj vklku dke djsaA

  (D) lkFk&lkFk dke djsaA

funsZ'k (iz'u la[;k 10 ls 16 rd)

uhps fn, x|ka'k dks i<+dj iwNs x, iz'uksa ds lcls 

mfpr mÙkj okys fodYi pqfu,A
lky ds ftl ekg esa eq>s lcls vfèkd yxko gksrk gS] 
og fnlacj gh gSA bl eghus dh dksey èkwi eq>s eksg 
ysrh gS] ysfdu lHkh ,glkl gksrk gS fd ;g lky Hkh 
chrdj foxr gks tk,xk] Bhd mlh rjg] tSls èkjrh 
eS;k ds vk¡py esa u tkus fdruh lfn;k¡] fdrus cjl 
nqcddj fNis cSBs gSaA fQj lksprk gw¡] rks yxrk gS fd 
gj fdlh ds thou ds cuus esa ,sls gh u tkus fdrus 
12 eghus gksaxs] bUgha eghuksa ds iy&iy dks tksM+dj 
ge&vki lc vius thou dks l¡okjrs&fcxkM+rs gSaA 
fdlkuh djrs gq, geus ik;k fd ,d fdlku pkj&pkj 

eghus esa ,d thou thrk gSA 'kk;n gh fdlh is'ks esa 
thou dks bl rjg VqdM+ksa esa ft;k tkrk gksxkA pkj 
eghus esas ge ,d Qly mitk ysrs gaS vkSj bu pkj 
eghus ds lq[k&nq%[k dks Qly dkVrs gh ekuks Hkwy tkrs 
gSaA geus dHkh ckcwth ds eq[k ls lquk Fkk fd fdlku 
gh dsoy ,slk tho gS] tks LokFkZ dks rkd ij j[kdj 
thrk gSA blds ihNs mudk rdZ gksrk Fkk fd Qly 
cksus ds ckn fdlku bl ckr dh ijokg ugha djrk 
gS fd Qy vPNk gksxk ;k cqjkA og lc dqN ekSle 
ds gokys dj thou ds vxys pj.k dh rS;kjh esa tqV 
tkrk gSA fdlkuh djrs gq, tks ,glkl gks jgk gS] mls 
fy[krk tkrk gw¡A bl vk'kk ds lkFk fd fdlkuh dks 
dksbZ ifjR;Dr Hkko ls u ns[ksA vafre eghus esa esjs tSls 
fdlku eDdk] vkyw vkSj ljlksa esa Mwcs iM+s gSaA bl 
vk'kk ds lkFk fd vkus okys u, lky esa bu Qlyksa ls 
u, thou dks u, lyhsds ls ltk;k&l¡okjk tk,xkA 

 10. fdlku vius lq[k&nq%[k dks dc Hkwy tkrk gS\

  (A) Qly cksus ij

  (B) Qly dkV ysus ij

  (C) Qly csp nsus ij

  (D) Qly rS;kj gksus ij

 11. ^fdlku* ls cuk ^fdlkuh* 'kCn gSµ

  (A) loZuke (B) fo'ks"k.k

  (C) fØ;k&fo'ks"k.k (D) laKk

 12. ys[kd [ksrh ds lkFk&lkFk fy[kus dk dke Hkh 
D;ksa dj jgk gS\

  (A) èku ds fy, [ksrh djuh iM+rh gSA

  (B) fdlku nhu ugha gSA

  (C) fdlku dks dksbZ ghu u le>sA

  (D) uke ds fy, lc dqN djuk t:jh gSA

 13. ys[kd dks fnlacj ls fo'ks"k yxko gS] D;ksafdµ

  (A) dksey èkwi vPNh yxrh gSA

  (B) lky cnyrk gSA

  (C) lky dk vafre eghuk gSA

  (D) ljnh gksrh gSA

 14. 'kCnksa dk dkSu&lk tksM+k 'ks"k ls fHkUu gS\

  (A) lq[k&nq%[k (B) ltk;k&l¡okjk

  (C) ?kkl&Qwl (D) dadM+&iRFkj

 15. LokFkZ dks rkd ij j[kdj thrs gSaµ

  (A) fo|kFkhZ (B) fdlku

  (C) eT+knwj (D) egkiq#"k

v/;k;
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 16. cPPkksa dk vius ys[ku ds izfr vkRefo'okl 
txkus ds fy, t:jh gS fd%

  (A) mlds }kjk fy[kh xbZ ckr dk lEeku 
fd;k tk,A

  (B) muds fy[kus dh xfr ij è;ku fnyk;k 
tk,A

  (C) muds v{kjksa dh cukoV dh iz'kalk dh 
tk,A

  (D) mudh orZuh dh 'kq¼rk dks ljkgk tk,A

funsZ'k (iz'u la[;k 17 ls 22 rd)

uhps fn, x, x|ka'kksa dks i<+dj fuEufyf[kr iz'uksa 
esa lcls mfpr fodYi pqfu,A 

;g rks vki tkurs gSa fd i`Foh izkjEHk esa vkx dk 
xksyk FkhA eq>s Bhd&Bhd ugha irk fd ,slh vkx 
esa eq> ikuh dk tUe oSGls gqvkA yxrk ;g gS fd 
gekjh i`Foh T;ksa&T;ksa B.Mh gksrh xbZ rks mlesa ekStwn 
xSlksa esa fozG;k,¡ gqb±A gkbMªkstu vkSj vkWDlhtu dh 
jklk;fud fozG;kvksa ls esjk tUe gqvk gSA bu nksuksa us 
viuk vfLrRo feVkdj eq>s cuk;kA igys eSa i`Foh 
osG Åij Hkki :i esa gh FkkA fQj tkus D;k gqvk fd 
eSa Bksl ciZG cu x;kA dYiuk djks pkjksa vksj ciZG gh 
ciZGA tc lw;Z dh fdj.ksa ge ij iM+rha rks pkjksa vksj 
lkSUn;Z fc[kj iM+rkA yk[kksa o"kks± rd bl :i esa jgus 
osG ckn eSa fQlyus yxk D;ksafd ciZG osG gh ncko ls 
fupyh ijr fi?kyus yxh FkhA fQlydj ge igq¡ps 
lkxj esaA ogk¡ dh rks ckr gh fujkyh FkhA ogk¡ vc 
rd gels igys igq¡ps ikuh esa NksVs&NksVs tho rSjus yxs 
FksA ?kkssa?ks] eNfy;k¡ vkSj dNqos HkhA èkhjs&/khjs l`f"V dk 
foLrkj gqvkA ty osG ckn LFky esa tho cuus yxs 
vkSj vkt vki mlh Ük`a[kyk osG vax gSa vkSj vius dks 
euq"; dgrs gSaA
17. ;g vkRedFkk fdldh gS\
 (A) ciZG dh  (B) ikuh dh 
 (C) euq"; dh (D) i`Foh dh 
18. lcls igys tho/kkjh dgk¡ iSnk gq,\
 (A) ciZG esa  (B) Hkki esa 
 (C) ty esa  (D) LFky esa 
19. ciZG D;ksa fQlyus yxh Fkh\
 (A) viuh xehZ ls fi?ky jgh Fkh
 (B) ciZG osG cks> vkSj ncko ls fupyh ijr 

fi?ky jgh Fkh
 (C) lw;Z us fi?kyk fn;k Fkk
 (D) leqæ dh ygjsa vk xbZ Fkha
20. euq"; fdl Ük`a[kyk dk vax gS\
 (A) tho/kkfj;ksa dh Ük`a[kyk dk 
 (B) tythoksa dh Ük`a[kyk dk 
 (C) izko`Gfrd Üka`[kyk dk 
 (D) izko`Gfrd ifjorZu Üka`[kyk dk 
21. pkjksa vksj lkSUn;Z----------------iM+rkA 
 fjDr LFkku ds fy, 'kCn gksxk

 (A) ped  (B) ned
 (C) fcQj (D) fc[kj 
22. dkSu&lh laKk cgqopu esa ugha gS\
 (A) ?kj cuus yxs gSa
 (B) tho ty esa rSj jgs gSa
 (C) ?kksa?ks py jgs gSaa
 (D) dNqos dh pky ns[ksa

funsZ'k (iz'u la[;k 23 ls 31 rd)

uhps fn, x, x|ka'kksa dks i<+dj fuEufyf[kr iz'uksa 
esa lcls mfpr fodYi pqfu,A

vkleku eas eqDdk ekjuk dksbZ cqf¼ekuh dk dke ugha 
le>k tkrkA fcuk y{; osG roZG djuk Hkh cqf¼ekuh 
ugha gSA gesa Hkyh&Hkk¡fr le> ysus dh vko';drk gS] 
fd gekjk y{; D;k gS\ ge tks oqGN iz;Ru djus tk 
jgs gSa og fdlosG fy, gS\ lkfgR; ge fdlosG fy, 
jprs gSa] bfrgkl vkSj n'kZu D;ksa fy[krs vkSj i<+rs gSa\ 
jktuhfrd vkUnksyu fdl egku mn~ns'; dh flf¼ 
osG fy, djrs gSa\ euq"; gh og cM+h pht gS ftlosG 
fy, lc ;g fd;k djrs gSaA gekjs lc iz;Ruksa dk 
,d y{; gS] euq"; orZeku nqxZfr osG iad ls m¼kj 
ik, vkSj Hkfo"; esa lq[k vkSj 'kkfUr ls jg losGA og 
'kkL=] og xzUFk] og dyk] og u`R;] og jktuhfr] og 
lekt&lqèkkj tatky&ek=  gS ftlls euq"; dk Hkyk 
u gksrk gSA euq"; vkt gk&gkdkj osG Hkhrj =kfg&=kfg 
iqdkj jgk gSA gekjs jktuhfrd vkSj lkekftd lq/kkj 
ls vUu&oL= dh leL;k lqy> ldrh gS fQj Hkh 
euq"; lq[kh ugha cusxkA mls fliZG vUu&oL= ls gh 
lUrks"k ugha gksxkA blosG ckn Hkh mldk euq"; cuuk 
ckdh jg tkrk gSA lkfgR; ogh dke djrk gSA euq"; 
uked izk.kh rks i'kqvksa esa gh ,d fodflr iztkfr gS 
vkSj ;fn euq";rk osG xq.k vkSj ewY; mlesa ugha gSa] rks 
og euq"; uked i'kq gh gS] euq"; ughaA Hkkstu djuk] 
lksuk vkSj oa'k&o`f¼ tSls dke izo`Gfr ds }kjk r; gSa] 
lPpk ekuo cuus osG fy, mls tks n`f"V pkfg, mls 
ikus esa lkfgR; lgk;d gks ldrk gSA 
23. vkleku esa eqDdk ekjus ls vk'k; gSµ
 (A) yksxksa dk /;ku vkdf"kZr djuk
 (B) viuh Js"Brk fl¼ djuk
 (C) ohjrkiw.kZ dk;Z djuk
 (D) fujFkZd dk;Z djuk
24. cqf¼ekuh ugha gSµ
 (A) fu#n~ns'; roZG djuk
 (B) jktuhfrd vkUnksyu djuk
 (C) vkleku esa eqDdk ekjuk
 (D) fu"Qy dk;Z djuk
25. lkfgR;] dyk] u`R; vkfn O;FkZ gSa ;fn mulsµ
 (A) euq"; dk fgr u gks lds
 (B) y{; u ik;k tk lds
 (C) /ku u dek;k tk lds
 (D) ;'k izkIr u gks lds

26. vUu&oL= vkfn dh leL;k,¡ gy gks ldrh 
gSaµ

 (A) vPNs lkfgR; ls
 (B) vko';drkvksa dh iwfrZ ls
 (C) lkekftd lq/kkjksa ls
 (D) jktuhfrd vkUnksyuksa ls
27. euq"; ds fy, izÏfr }kjk r; dkeksa esa ugha gSµ
 (A) vUu&oL= dh iwfrZ
 (B) oa'k&o`f¼
 (C) lksuk
 (D) Hkkstu djuk
28. euq"; ,d i'kq gh gS ;fn mlesaµ
 (A) lkfgR; ds izfr #fp u gks
 (B) ekuoh; ewY; u gksa
 (C) lEiUurk u gks
 (D) lkekftdrk u gks
29. fn, x, 'kCnksa esa ls vFkZ dh n`f"V ls fHkUu 'kCn 

Nk¡fV,µ
 (A) fu'kkuk (B) y{;
 (C) mn~ns'; (D) m¼kj
30. vuqPNsn esa ^tatky* 'kCn fdl vFkZ esa iz;qDr 

gqvk gS\
 (A) =kfg&=kfg (B) >a>V
 (C) leL;k (D) iz;Ru
31. ^cqf¼ekuh* 'kCn gSµ
 (A) fo'ks"k.k (B) fØ;k
 (C) laKk (D) loZukefu

funsZ'k (iz'u la[;k 32 ls 39 rd)

uhps fn, x, x|ka'k dks i<+dj lcls mfpr fodYi 
dk p;u dhft,A

thou esa cgqr va/kdkj gS vkSj va/kdkj dh gh Hkk¡fr 
v'kqHk vkSj vuhfr gSA oqGN yksx bl va/kdkj dks 
Lohdkj dj ysrs gSa vkSj rc muosG Hkhrj tks izdk'k 
rd igq¡pus vkSj ikus dh vkdka{kk Fkh] og ozGe'k% {kh.k 
gksrh tkrh gSA eSa vaèkdkj dh bl Loho`Gfr dks euq"; 
dk lcls cM+k iki dgrk gw¡ ;g euq"; dk Lo;a vius 
izfr fd;k x;k vijk/k gSA mlosG nwljksa osG izfr fd, 
x, vijk/kksa dk tUe bl ewy iki ls gh gksrk gSA ;g 
Lej.k jgs fd tks O;fDr vius gh izfr bl iki dks 
ugha djrk gS] og fdlh osG Hkh izfr dksbZ iki ugha dj 
ldrk gS] fdUrq oqGN yksx va/kdkj osG Lohdkj ls cpus 
osG fy, mlosG vLohdkj esa yx tkrs gSaA mudk thou 
vaèkdkj osG fu"ks/k dk gh lrr~ miozGe cu tkrk gSA 

 32. x|ka'k esa ̂ va/kdkj* 'kCn fdl vksj laosGr djrk 
gS\

  (A) iki dh vksj

  (B) cqjkb;ksa vkSj dfBukb;ksa dh vksj

  (C) vijk/kksa dh vksj

  (D) xjhch dh vksj
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 33. ys[kd us fdls lcls cM+k iki dgk gS\

  (A) izdk'k ikus dh {kh.k vkdka{kk

  (B) euq"; dk vius izfr iki u djuk

  (C) va/kdkj dks Lohdkj u djuk

  (D) va/kdkj dks Lohdkj dj ysuk

 34. tc O;fDr Lo;a osG izfr fd, x, vU;k;] 'kks"k.k 
osG fo#¼ vkokt+ ugha mBkrk rksµ

  (A) blls nwljksa osG izfr vU;k;] 'kks"k.k dks 
c<+kok feyrk gS

  (B) og osGoy vius izfr vU;k; djrk gS

  (C) blls 'kkafr dk ekgkSy cuk jgrk gS

  (D) og naM dk vf/kdkjh cu tkrk gS

 35. ^va/kdkj dk fu"ks/k* fdl vksj laosGr djrk gS\

  (A) vU;k;] 'kks"k.k] cqjkb;ksa dks lnk osG fy, 
lekIr djuk

  (B) lekt esa iSGys va/kdkj dks izdk'k esa cny 
nsuk

  (C) lekt dks va/kdkj ls eqDr djus osG fy, 
iz;Ru'khy jguk

  (D) ;g ekuuk fd lekt esa vU;k;] 'kks"k.k] 
cqjkb;k¡ ugha gaS

 36. bl x|ka'k dk eq[; mís'; gSµ

  (A) va/kdkj vkSj izdk'k dh O;k[;k djuk

  (B) vU;k; vkSj cqjkb;ksa dks nwj djus osG fy, 
iszfjr djuk

  (C) rjg&rjg osG yksxksa dh fo'ks"krk,¡ crkuk

  (D) iki vkSj iq.; dh O;k[;k djuk

 37. bl x|ka'k esa ^miozGe* dk vFkZ gSµ

  (A) vkjaHk] 'kq#vkr

  (B) rS;kjh] ;kstuk

  (C) vk;kstu] lekjksg

  (D) O;olk;] dk;Z

 38. thou esa cgqr va/kdkj gSA js[kkafdr va'k esa 
dkSu&lk dkjd gS\

  (A) viknku dkjd

  (B) vf/kdj.k dkjd

  (C) dj.k dkjd

  (D) lEiznku dkjd

 39. ß--- vkSj va/kdkj dh gh Hkk¡fr v'kqHk vkSj vuhfr 
gSAÞ okD; esa fuikr gSµ

  (A) gh (B) dh

  (C) gS (D) vkSj

funsZ'k (iz'u la[;k 40 ls 46 rd)
uhps fn, x, x|ka'k dks i<+dj lcls mfpr fodYi 
dk p;u dhft,A

f'k{kk osGoy rHkh cPpksa osG vkfRed thou dk ,d va'k 
curh gS] tcfd Kku lfozG; dk;ks± osG lkFk vfHkék :i 
ls tqM+k gksA cPpksa ls ;g vk'kk ugha dh tk ldrh fd 
igkM+s ;k ledks.k prqHkqZt dk {ks=Qy fudkyus osG 

fu;e vki ls vki mUgsa vkdf"kZr djsaxsA tc cPpk 
;g ns[krk gS fd Kku l`tu osG ;k Je osG y{;ksa dh 
izkfIr dk lk/ku gS] rHkh og Kku ikus dh bPNk muosG 
eu esa tkxrh gSA eSa ;g psÔk djrk Fkk fd NksVh mez 
esa gh 'kkjhfjd Je esa cPpksa dks viuh gksf'k;kjh vkSj 
oqG'kkxz cqf¼ dk ifjp; nsus dk volj feysA LowGy 
dk ,d lokZf/kd egÙoiw.kZ dk;ZHkkj gSµcPpksa dks Kku 
dk iz;ksx djuk fl[kkukA NksVh d{kkvksa esa ;g [krjk 
lcls T-;knk gksrk gS fd Kku fujFkZd cks> cudj 
jg tk,xk] D;ksafd bl mez esa ckSf¼d Je ubZ&ubZ 
ckrsa lh[kus ls gh lacaf/kr gksrk gSA

 40. ys[kd osG vuqlkj f'k{kk dk vFkZ gS

  (A) Kku dk iz;ksx djuk

  (B) Je djuk

  (C) fo"k; ij vf/kdkj izkIr djuk

  (D) Kku izkIr djuk

 41. Kku&izkfIr dh bPNk dc txrh gS\

  (A) tc ge ;g ns[ksa fd Kku gekjs HkkSfrd 
thou osG y{;ksa dh izkfIr dk lk/ku gS

  (B) tc ge ;g ns[ksa fd Kku&oku euq"; gh 
Je dk vf/kdkjh gS

  (C) tc ge ;g ns[ksa fd Kku osG }kjk ge 
leLr lq[kksa dk YkkHk mBk ldrs gSa

  (D) tc ge ;g ns[ks a fd Kku osG }kjk 
l`tukRed dk;Z fd, tk ldrs gSa

 42. ys[kd osG vuqlkj %

  (A) 'kkjhfjd Je esa rst cqf¼ dh vko';drk 
ugha gksrh

  (B) 'kkjhfjd Je esa le>nkjh vkSj rst cqf¼ 
dh Hkh vko';drk gksrh gS

  (C) 'kkjhfjd Je cPpksa dks gksf'k;kj cukrk gS

  (D) 'kkjhfjd Je gh ,dek= egÙoiw.kZ rÙo 
gS

 43. x|ka'k osG vuqlkj Kku dc fujFkZd cks> cu 
tkrk gS\

  (A) tc mls d{kkvksa rd lhfer dj fn;k 
tk,

  (B) tc mls 'kkjhfjd Je ls u tksM+k tk,

  (C) tc mldk lfozG; iz;ksx u fd;k tk,

  (D) tc ml ij iw.kZr% vf/kdkj u fd;k tk,

 44. ^bPNk* 'kCn esa ^bd* izR;; tksM+us ls cuus 
okyk u;k 'kCn gS

  (A) ,sfPNd (B) bfPNd

  (C) bZfPNd (D) ,fPNd

 45. ^dk;Z* dk cgqopu :i gSµ

  (A) dk;s± (B) dk;Z

  (C) dk;ZozGeksa (D) dk;ks±

 46. ^ckSf¼d* 'kCn esa ewy 'kCn gS

  (A) cq¼ (B) ckS¼

  (C) ckSf¼ (D) cqf¼

funsZ'k (iz'u la[;k 47 ls 53 rd)
x|ka'k dks i<+dj fuEufyf[kr iz'uksa esa lcls mfpr 
fodYi pqfu,A

e® fn[kkuk pkgrh gw¡ fd ge vkykspukRed f'k{kk'kkL= 
ds t+fj, pht+ksa ij inkZ Mkyus dh dksf'k'k ug° djrs] 
D;ksafd vc rks ;gh pyu cu x;k gSA ge vkerkSj 
ij dgrs g®µvjs] lh[kus dk fdruk [+kq'kuqek ekgkSy 
gS vkSj ns[kks] cPps dSls&dSls iz;ksx dj jgs g®] oxSjgA 
exj vc ;s [kq'kuqek <ax ls lh[kuk Hkh ,d <jkZ cu 
x;k gS] bldks cgqr cstku cuk fn;k x;k gSA ge 
vDlj lksprs g® fd cl dksbZ xfrfof/k djuk gh dkQ+h 
gS] Hkys gh oks fcYdqy fujFkZd gks] Hkys gh cPps mlds 
t+fj, dqN u lh[k jgs gksaA cl xfrfofèk;k¡ djokus 
dh ekjkekjh eph gqbZ gSA vkt gekjs ;gk¡ ;gh gkykr 
g® blfy, eq>s yxrk gS fd gesa bl ckjs esa ,d u, 
fljs ls lkspuk pkfg,A cs'kd] xfrfof/k dk egRo gS 
exj cPpksa dks oks phtsa er fl[kkb, tks ckn esa vkuh 
g®A elyu] mUgsa uEcj ykbu fl[kkdj mlds vk/
kkj ij Vkbe ykbu dh ckr er dhft,A gj pht+ dks 
,d lUnHkZ esa dhft,A bldh otg ;g gS fd cPps 
blh rjg lh[krs g®A la[;k,¡ lUnHkZ ls gh vkrh g®A 
la[;k ,d cgqr vewrZ /kkj.kk gSA ,d cPps ds fy, 
^nks* le>uk vewrZ ckr gSA og dSls le>sxk fd fdlh 
pht+ ds ^nks* gksus dk D;k eryc gS\

 47. cPpksa ds lh[kus ds rjhds esa lcls vf/kd D;k 
egÙoiw.kZ gS\

  (A) la[;k (B) lUnHkZ

  (C) xfrfof/k (D) ;s lHkh

 48. x|ka'k esa fdlds <jkZ cu tkus dh ckr dh xbZ 
gS\

  (A) iz;ksx djus dh

  (B) [+kq'kuqek ekgkSy dh

  (C) [+kq'kuqek <ax ls lh[kus dh

  (D) xfrfof/k djus dh

 49. x|ka'k ds vuqlkjµ

  (A) xfrfof/k djkuk mfpr ug° gS

  (B) xfrfof/k;ksa dk fujUrj iz;ksx djrs jguk 
pkfg,

  (C) xfrfof/k ds tfj, cPps dqN ug° lh[krs

  (D) xfrfof/k;k¡ lkFkZd gksuh pkfg,

 50. cPpksa ds fy, D;k eqf'dy gS\

  (A) la[;k tSlh vewrZ vo/kkj.kk dks le>uk

  (B) xfrfof/k;ksa dk egÙo le>uk

  (C) la[;kvksa ds egRo dks le>uk

  (D) xfrfof/k;ksa ds ek/;e ls lh[kuk

 51. vDlj yksx D;k lksprs g®\

  (A) xfrfof/k djkuk gh dkQ+h gS

  (B) fdlh Hkh xfrfof/k ls cPps lh[krs g®

  (C) xfrfof/k ls le; dh cpr gksrh gS

  (D) xfrfof/k;k¡ cgqr cstku gksrh g®
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 52. ^xfrfof/k;k¡ djokus dh ekjkekjh eph gqbZ gS* 
dk vk'k; gSµ

  (A) xfrfof/k;k¡ djkrs le; ekjihV gks jgh gS

  (B) xfrfof/k;k¡ djkuk cgqr eg¡xk iM+rk gS

  (C) lHkh yksx ns[kk&ns[kh fujFkZd xfrfofèk;k¡ 
Hkh djokus esa yxs gq, g®

  (D) lHkh yksx ns[kk&ns[kh lkFkZd xfrfofèk;k¡ 
djokus esa yxs gq, g®

 53. ^vewrZ* dk foykse gSµ
  (A) ewrZ (B) lkdkj
  (C) izR;{k (D) ew£roku

funsZ'k (iz'u la[;k 54 ls 60 rd)

uhps fn, x, x|ka'k dks i<+dj fuEufyf[kr iz'uksa 
esa lcls mfpr fodYi pqfu,A

nsf[k,] ;g flQ+Z fl¼kUr dh ckr ug° gS] ;g rks gekjs 

vuqHkoksa vkSj O;ogkj ls Hkh fn[kkbZ ns jgh gSA vkt 

D;k fLFkfr gS\ f'k{kk esa geus cgqr izxfr dh gSA igys 

cgqr de Ldwy Fks] vc gj xk¡o esa vkSj gj eksgYys esa 

Ldwy g®A cgqr nwjLFk bykd+s esa Hkh Ldwy [kqy pqds g®] 

ysfdu mu Ldwyksa esa tks f'k{kk fey jgh gS og ukeek= 

dh f'k{kk fey jgh gSA ik¡po° ikl gks tk,¡xs] NBh] 

vkBo° esa cPpk igq¡p tk,xk] ysfdu mudh fy[kus] 

i<+us vkSj fglkc djus dh ;ksX;rk cgqr detksj gSA 

;g D;ksa gks jgk gS\ blfy, gks jgk gS fd bl ns'k esa 

ftrus iSls okys yksx g® mUgksaus viuh O;oLFkk vyx 

cuk yh gS vkSj mudks vc bl ckr dh ijokg ug° gS 

fd ljdkjh Ldwyksa esa i<+kbZ gks jgh gS ;k ug°A fdrus 

f'k{kd g®] D;k O;oLFkk gS] f'k{kd vkrk gS ;k ug°] 

;s lkjh phtsa g® ftuls mudks dksbZ eryc ug° gSA

 54. f'k{kk esa izxfr gqbZ gS] x|ka'k ds vuqlkj bldk 

izek.k gSµ

  (A) cPps vPNk lh[k jgs g®

  (B) nwj&njkt+ ds xk¡o esa Hkh Ldwy [kqy x, 

g®

  (C) nwj&njkt+ ds xk¡oksa esa lHkh cPps i<+us 

tkrs g®

  (D) cPps fglkc esa iDds gks x, g®

 55. nwjLFk bykdkas esaµ

  (A) vPNh f'k{kk fey jgh gS

  (B) vPNs f'k{kd i<+krs g®

  (C) vPNh f'k{kk ug° fey jgh gS

  (D) f'k{kd jkst le; ij vkrs g®

 56. cPps i<+kbZ esa detksj g®] bldk dkj.k gSµ

  (A) iSls okys yksxksa us vius vyx Ldwy [kksy 

fy, g®

  (B) iSls okys yksxksa dks bl ckr ls dksbZ 

ljksdkj ug° gS

  (C) iSls okys yksx xk¡o esa de tkrs g®

  (D) iSls okys yksxksa dh O;oLFkk [+kjkc gS

 57. x|ka'k ds vuqlkj cPpksa dh csgrj f'k{kk ds 
fy,µ

  (A) vf/kd Ldwy [kksys tkus pkfg,

  (B) f'k{kk&O;oLFkk esa ls iSls okys yksxksa dks 
fudky nsuk pkfg,

  (C) cPpksa] f'k{kdksa vkSj iwjh f'k{kk&O;oLFkk 
ij /;ku fn;k tkuk pkfg,

  (D) cPpksa dks vf/kd le; rd i<+kuk pkfg,

 58. ^f'k{kk* esa ^bd* izR;; yxkus ij 'kCn cusxkµ

  (A) 'kSf{kd (B) f'kf{kd

  (C) 'kS{khd (D) f'kf{kr

 59. ^izxfr* esa dkSu&lk izR;; yxsxk\

  (A) oku (B) okyk

  (C) 'khy (D) nkj

 60. x|ka'k esa fdl 'kCn ds ,d ls vf/kd vFkZ g®\

  (A) f'k{kk (B) izxfr

  (C) ;ksX;rk (D) ikl

funsZ'k (iz'u la[;k 61 ls 68 rd)

x|ka'k dks i<+dj fuEufyf[kr ç'uksa esa lcls mfpr 
fodYi pqfu,A

gekjs ns'k esa vk/kqfud f'k{kk uked ,d pht+ izdV 
gqbZ gSA blosG uke ij ;=&r= LowGy vkSj dkWyst 
oqGoqGjeqÙkksa dh rjg flj mBkdj [kM+s gks x, gSaA budk 
xBu bl rjg fd;k x;k gS fd budk izdk'k dkWyst 
O;oLFkk osG ckgj eqf'dy ls igq¡prk gSA lwjt dh 
jks'kuh pk¡n ls Vdjkdj ftruh fudyrh gS] buls 
mlls Hkh de jks'kuh fudyrh gSA ,d ijns'kh Hkk"kk 
dh eksVh nhokj bls pkjksa vksj ls ?ksjs gq, gSA tc eSa 
viuh ekr`Hkk"kk osG t+fj, f'k{kk osG izlkj osG ckjs esa 
lksprk gw¡ rks ml fopkj ls lkgl {kh.k gksrk gSA ?kj 
dh pgkjnhokjh esa can nqYgu dh rjg ;g Hk;Hkhr 
jgrh gSA cjkens rd gh bldh Lora=rk dk lkezkT; 
gS% ,d bap vkxs c<+h fd ?kw¡?kV fudy vkrk gSA gekjh 
ekr`Hkk"kk dk jkt izkFkfed f'k{kk rd lhfer gSA nwljs 
'kCnkas esa] ;g osGoy cPpksa dh f'k{kk ds fy, mi;qDr gS] 
ekuk ;g fd ftls dksbZ nwljh Hkk"kk lh[kus dk volj 
ugha feyk] gekjh turk dh ml fo'kky HkhM+ dks f'k{kk 
osG muosG vf/kdkj osG izlax esa cPpk gh le>k tk,xkA 
mUgsa dHkh iw.kZ fodflr euq"; ugha cuuk gS vkSj rc 
Hkh ge izseiwoZd lksprs gSa fd Lojkt feyus ij mUgsa 
lEiw.kZ euq"; osG vfèkdkj gkfly gksaxsA  

 61. bu LowGy&dkWystksa esa fdl Hkk"kk esa i<+kbZ gksrh 
gS\ 

  (A) ns'kh Hkk"kk esa 
  (B) ekud Hkk"kk esa
  (C) fons'kh Hkk"kk esa
  (D) x`gHkk"kk esa

 62. ys[kd fdl fopkj ls lger ugha gS\ 

  (A) ekr`Hkk"kk esa gh i<+k;k tk,A

  (B) ekr`Hkk"kk dk iz;ksx osGoy izkFkfed Lrj 
rd gh mi;qDr gSA

  (C) ekr`Hkk"kk dk iz;ksx cgqr lhfer gSA
  (D) vU; Hkk"kk,¡ Hkh lh[kuk cqjk ugha gSA

 63. ys[kd us ekr`Hkk"kk dh rqyuk fdlls dh gS\ 

  (A) nqYgu ls (B) pgkjnhokjh ls
  (C) cjkens ls (D) ?kw¡?kV ls

 64. vk/kqfud f'k{kk osG uke ij ,slk D;k gqvk tks 
ys[kd dks vfiz; gS\

  (A) lw;Z dh jks'kuh dk pk¡n ls Vdjkuk
  (B) LowGy &dkWystksa dk vfu;ksftr rjhosG ls 

[kqyuk
  (C) ekr`Hkk"kk osG t+fj, f'k{kk nsuk            
  (D) yksxksa dks f'k{kk dk vf/kdkj izkIr u gksuk 

 65. ^fopkj* 'kCn esa ̂ bd* izR;; yxus ij tks 'kCn 
cusxk] og gS 

  (A) fopkfjd (B) oSpkfjd
  (C) oSpkjhd  (D) ospkfjd

 66. ^lkgl* 'kCn gS 
  (A) fo'ks"k.k
  (B) fØ;k&fo'ks"k.k
  (C) Hkkookpd laKk
  (D) fØ;k

 67. ^?kj dh pgkjnhokjh esa can nqYgu dh rjg ;g 
Hk;Hkhr jgrh gSA* okD; esa js[kkafdr va'k gS

  (A) fØ;k fo'ks"k.k
  (B) fu'p;okpd loZuke
  (C) vfu';okpd loZuke 

  (D) laca/kokpd loZuke

 68. LowGy vkSj dkWystksa dk oqGoqGjeqÙkksa dh rjg flj 
mBkus ls rkRi;Z gS fd LowGy vkSj dkWyst 

  (A) fu;e osG rgr [kksys x, gSaA
  (B) vokaNuh; :i ls [kksys x, gSaA
  (C) ;kstuk osG rgr [kksys x, gSaA
  (D) okafNr :i ls [kqyok, x, gSaA

funsZ'k (iz'u la[;k 69 ls 75 rd)

x|ka'k dks i<+dj fuEufyf[kr ç'uksa esa lcls mfpr 
fodYi pqfu,A

jktuhfrd cglksa dh xjeh esa ge tks Hkh dgsa] vius 
jk"Vªh; vfHkeku dh vfHkO;fDr esa ge ftruk Hkh 
tksj ls ph[ksa] lfØ; jk"Vªh; lsok osG izfr ge vR;ar 
mnklhu jgrs gSa] D;ksafd gekjk ns'k izdk'k ls ghu gSA 
ekuo LoHkko esa fufgr datwlh osG dkj.k ftUgsa geus 
uhpk j[k NksM+k gS] muosG izfr vU;k; ls ge cp gh 
ugha ldrsA le;&le; ij muosG uke ij ge iSlk 
bdëk djrs gSa] ysfdu muosG fgLls esa 'kCn gh vkrs gSa] 
iSlk rks varr% gekjh ikVhZ osG gh yksxksa osG ikl igq¡prk 
gSA la{ksi esa] gekjs ns'k osG ml vR;ar NksVs fgLls] ik¡p 
izfr'kr vkSj vkcknh osG vU; iapkuos izfr'kr osG chp 
dh nwjh leqanj ls Hkh vf/kd pkSM+h gSA



190  |  

 69. ys[kd osG vuqlkj ge fduosG izfr vU;k; djrs 
gSa\ 

  (A) tks datwl gSaA
  (B) tks fuEu oxZ osG gSaA
  (C) tks t+ksj ls ph[krs gSaA
  (D) tks jk"Vª dh lsok ugha djrsA

 70. ys[kd osG vuqlkj ge fduosG uke ij iSlk 
bdëk djrs gSa\     

  (A) lHkh ekuoksa osG uke ij
  (B) datwl yksxksa osG uke ij
  (C) fuEu oxZ osG yksxkas dh HkykbZ osG uke ij        

  (D) ikVhZ osG uke ij

 71. ^ysfdu muosG fgLls esa 'kCn gh vkrs gSa ----* 
okD; esa js[kkafdr 'kCn fdl vFkZ dh vksj 
laosGr djrk gS\ 

  (A) cM+cksysiu dh rjQ
  (B) dHkh u iwjs gksus okys oknksa dh rjQ
  (C) viekutud Hkk"kk dh rjQ
  (D) Hkkf"kd lkexzh dh rjQ

 72. fdl 'kCn esa Loj jfgr o.kZ osG LFkku ij 
vuqLokj (-) dk iz;ksx fd;k tk ldrk gS\ 

  (A) lEeku (B) vR;Ur
  (C) vU;k;  (D) v{kq..k

 73. ^jk"Vªh;* 'kCn esa dkSu&lk izR;; gS\  
  (A) b; (B) ;
  (C) bZ; (D) jh;

 74. ^ftruk Hkh t+ksj ls ph[ksa*] okD; esa fØ;k gS 
  (A) vdeZd (B) ldeZd
  (C) izsj.kkFkZd  (D) f}deZd

 75. x|ka'k osG vk/kkj ij dgk tk ldrk gS fd  
  (A) lalk/kuksa dk c¡Vokjk leku :i ls gSA
  (B) lalk/kuksa dk vlarqfyr c¡Vokjk oxZ&Hksn 

dh [kkbZ dks c<+krk gSA
  (C) osGoy ik¡p izfr'kr vkcknh osG ikl gh 

cqf¼ gSA
  (D) iapkuos izfr'kr vkcknh leqanj osG fdukjs 

jgrh gSA

vifBr i|ka'k
funsZ'k (iz'u la[;k 1 ls 6 rd)

fuEufyf[kr dkO;ka'k dks i<+dj iwNs x, iz'uksa ds 
lcls mi;qDr mÙkj okys fodYi dks pqfu;sA

  og vkrkµ
  nks Vwd dysts ds djrk iNrkrk iFk ij vkrkA
  isV&ihB nksuksa feydj gSa ,d]
  py jgk ydqfV;k Vsd]
  eqV~Bh&Hkj nkus dks&Hkw[k feVkus dks 
  eq¡g QVh iqjkuh >ksyh dks QSykrkµ
  nks Vwd dysts ds djrk iNrkrk iFk ij vkrkA 
 1. ^dysts dks nks Vwd djuk* dk vk'k; gSµ

  (A) eu dks d"V igq¡pkukA
  (B) fny dh phj&QkM+ djukA
  (C) dfBukbZ iSnk djuk
  (D) VqdM+s&VqdM+s djukA
 2. fHk[kkjh viuh >ksyh D;ksa QSykrk gS \
  (A) >ksyh esa dqN fNikuk pkgrk gSA
  (B) eqV~Bh&Hkj vukt fn[kkuk pkgrk gSA
  (C) viuh xjhch ds ckjs esa crkuk pkgrk gSA
  (D) Hkw[k feVkus ds fy, dqN vUu pkgrk gSA

 3. ^eq¡g* 'kCn esa iz;qDr paæfcanq gSµ

  (A) vuqukfld (B) ukflD;

  (C) f'kjksjs[kk (D) vuqLokj

 4. dkO;ka'k ls gekjs eu esa mBus okyk eq[; Hkko 
gSµ

  (A) gkL; (B) d#.kk

  (C) ohjrk (D) Ük`axkj

 5. ^og vkrk* esa ^og* loZuke fdldk n~;ksrd gks 
ldrk gS \

  (A) vfrfFk (B) fHk{kqd

  (C) fodykax (D) xka/khth

 6. ^isV&ihB nksuksa feydj gSa ,d* bldk dkj.k 
D;k gks ldrk gS \

  (A) >qddj pyukA

  (B) dqN Hkh Hkkstu u djuk A

  (C) Hkh[k ek¡xus dk ukVd djuk A

  (D) fldqM+dj cSBukA

funsZ'k (iz'u la[;k 7 ls 12 rd)
uhps fn, x, i|ka'k dks i<+dj fuEufyf[kr iz'uksa 
ds lgh@lcls mi;qDr mÙkj okys fodYi dks pqfu,A

 ek¡ rqEgkjk ½.k cgqr gS eSa vfdapu

 fdarq fQj Hkh dj jgk bruk fuosnu

 Fkky esa ykÅ¡ ltkdj Hkky tc Hkh

 dj n;k Lohdkj ysuk og leiZ.kA

 ek¡ eq>s cfynku dk ojnku ns nks

 rksM+rk gw¡ eksg dk ca/ku {kek nks

 vkt lh/ks gkFk esa ryokj ns nks

 vkSj ck,¡ gkFk esa /ot dks Fkek nksA

 lqeu vfiZr peu vfiZr 

 uhM+ dk d.k&d.k lefiZr

 pkgrk gw¡] ns'k dh /kjrh] rq>s dqN vkSj Hkh nw¡A

 7. ^ek¡* lacks/ku fdlds fy, gS\

  (A) ekr`Hkwfe ds fy,    

(B) nsoh nqxkZ ds fy,

  (C) tuuh ds fy,    

(D) i`Foh ds fy,

 8. dfo fuosnu dj jgk gS fdµ

  (A) mlds thounku dks Lohdkj fd;k tk,

  (B) ml ij n;k dh tk,

  (C) mls ½.k pqdkus dk volj feys

  (D) og ewY;oku Fkky esa ekFkk ltkdj yk,

 9. ^uhM+ dk d.k&d.k lefiZr* dFku esa ^uhM+* 
dk vk'k; gSµ

  (A) >ksiM+h (B) egy

  (C) fruds (D) ?kj&ifjokj

 10. ßpkgrk gw¡] ns'k dh /kjrh] rq>s dqN vkSj Hkh 
nw¡Þ—dFku esa ̂ dqN vkSj* ls rkRi;Z gS fd dqN 
,slk fn;k tk, tksµ

  (A) C;kt pqdkus ls csgrj gks

  (B) Fkky esa nh tkus okyh HksaV ls vPNk gks

  (C) ½.k pqdkus ls c<+dj gks

  (D) cfynku ls Hkh c<+dj gks

 11. ^vfdapu* dk vFkZ gSµ

  (A) ijenq[kh (B) vfr fu/kZu

  (C) ½.kh (D) cslgkjk

 12. ^cfynku* 'kCn ls cuk fo'ks"k.k gSµ

  (A) vkRecfy (B) cfynkuh

  (C) izcy nkuh (D) cyoku

funsZ'k (iz'u la[;k 13 ls 15 rd)
fuEufyf[kr dkO;ka'k dks i<+dj fn, x, iz'uksa ds 
lgh@lcls mi;qDr mÙkj okys fodYi dks pqfu,A

u vojksèk dksbZ] u ckèkk dgh gS

u lansg dksbZ] u O;oèkku dksbZ

cgqr nwj ls gSa fn'kk,¡ cqykrha

ugha iFk&Mxj vkt vutku dksbZ

fn'kk,¡ fuea=.k eq>s ns jgh gSa]

 fnxarj [kqyk flQZ esjs fy, gSA

ugha dqN ;gk¡ jkg tks jksd ik,

u dksbZ ;gk¡ tks eq>s Vksd ik,

vtkuh gok esa mM+k tk jgk gw¡

fot; xhr esjk xxu eLr xk,

ân; esa dgha dg jgk ckr dksbZ]

èkjk vkSj xxu flQZ rsjs fy, gSA

 13. dfo dks dksbZ dg jgk gS fdµ

  (A) ckèkkvksa ls nwj jguk pkfg,

  (B) èkjrh vkSj vkleku mlds fy, gS

  (C) y{; vHkh cgqr nwj gS

  (D) vtkuh gok esa mM+ks

 14. dfork esa nks lekukFkhZ 'kCn ,d gh okD; esa 
vk, gSaA og okD; dkSu&lk gS\

  (A) èkjk vkSj xxu flQZ rsjs fy, gSa

  (B) u vojksèk dksbZ] u ckèkk dgha gS

  (C) u lansg dksbZ] u O;oèkku dksbZ

  (D) vtkuh gok esa mM+k tk jgk gw¡

 15. dfo dks dkSu fuea=.k ns jgk gS\

  (A) fn'kk,¡ (B) gok

  (C) xxu (D) fnxarj
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funsZ'k (iz'u la[;k 16 ls 21 rd)

fuEufyf[kr dkO;ka'k dks i<+dj fn, x, iz'uksa ds 
lcls mfpr mÙkj okys fodYi pqudj fyf[k,A

  xjtrs ?ku ?kuu&?ku&?ku]

  ukprk gS eksj&lk eu]

  ,slh iM+h >j&>j >M+h&

  Hkhxk cnu cslq/k gS euA

  vkt o"kkZ vtc vkbZ!

  cg jgh gS eLr iqjokbZ]

  unh gS }kj rd vkbZ]

  es?kksa ls fyiVdj lks x;k lwjt&

  ys jgs gSa [ksr v¡xM+kbZA

  vkt o"kkZ xtc vkbZ!

 16. ^iqjokbZ] ls vk'k; gS&

  (A) iwoZ dks cgus okyh unh

  (B) iwoZ dh vksj cgus okyh iou

  (C) eneLr djus okyh gok

  (D) iwoZ ls vkus okyh ok;q

 17. ^cslq/k gS eu* dgdj dfo crkuk pkgrk gS fd 
eu&

  (A) eLr gks tkrk gSA 

  (B) xkus yxrk gSA

  (C) >weus yxrk gSA 

  (D) ikuh ls Hkhx tkrk gSA

 18. [ksr v¡xM+kb;k¡ ys jgs gSa D;ksafd&

  (A) lw;Z ds lks tkus ls mUgsa Hkh uhan vk jgh 
gSA

  (B) lqcg gks xbZ] os uhan ls tkx jgs gSaA

  (C) mUgsa cgqr vkuan vk jgk gSA

  (D) lw;Z fn[kkbZ ugha ns jgk gSA

 19. ^xjtrs ?ku ?kuu&?ku&?ku* µ esa vyadkj gSµ

  (A) vuqizkl (B) :id

  (C) 'ys"k (D) miek

 20. eu dh miek fdlls nh xbZ gS\

  (A) o"kkZ ls (B) eksj ls

  (C) lkou ls (D) cknyksa ls
 21. ^fyiVdj lks x;k lwjt* dk Hkko gS fd lw;Zµ

  (A) [kks x;k gSA (B) Fkd x;k gSA

  (C) fNi x;k gSA (D) uhan esa gSA

funsZ'k (iz'u la[;k 22 ls 27 rd)
nh xbZ dfork dh iafDr;k¡ i<+dj iwNs x, iz'uksa esa 
lcls mfpr mÙkj okys fodYi pqfu,µ

pedhyh gS lqcg vkt dh vkleku esa
fu'p; dy dh lqcg vkSj pedhyh gksxh
cspSuh dh ck¡gksa esa dy iwGy f[kysaxs
?kqVu xedrh lk¡lksa dh vkokt lqusxhA
oqG.Bkvksa dh Vguh fNUu&fHkUu gksxh fQj
vk'kk vius gkFkksa ls  vc oqGlqe pqusxh]

pVdhyh gS vkt pgdrh gqbZ pk¡nuh
dy pUnk dh fdj.k vkSj pVdhyh gksxh [kqy tk,¡xs]
vc lcosG fny osG njokts vk¡[ksa viuh vk¡[kksa dks 
igpku losGaxhA
22. dkO;ka'k esa ^pedhyh lqcg* dk vk'k; gSµ 

 (A) vU/kdkj lekfIr osG ckn vk'kkHkjh lqcg 
 (B) lw;Z dh fdj.kksa ls pedrh lqcg 
 (C) lisGn dksgjs ls pedrh lqcg 
 (D) izkr% dky dk le; 
23. dfo dks fo'okl gS fdµ  

 (A) lqcg dk le; lnk lqgkuk gksrk gS
 (B) dy dh lqcg vkt ls vPNh gksxh
 (C) lqcg dk lw;Z d"V nwj djrk gS
 (D) vkt dh lqcg lcls vPNh gksxh
24. ^oqG.Bkvksa dh Vguh fNUu&fHkUu gksxh* ls rkRi;Z 

gSµ  

 (A) nq%[k dh vuqHkwfr [kRe gksxh 
 (B) iqjkuh Mky VwV tk,xh
 (C) fujk'kk nwj gksxh
 (D) eu dk nq%[k nwj gksxk
25. ^pk¡nuh* dk fo'ks"k.k gSµ 
 (A) pVdhyh  (B) rM+irh 
 (C) xedrh  (D) egdrh 

26. ^fny ds njokts [kqy tk,¡xs* dk D;k vFkZ gS \

 (A) vkil esa ckrsa djsaxs

 (B) fnyksas esa lcosG izfr fe=rk jgsxh 

 (C) dksbZ ckr fNih ugha jgsxh

 (D) ân; ls ân; feysaxs

27. ^oqGlqe* dk i;kZ;okph 'kCn ugha gSµ

 (A) dey  (B) izlwu 

 (C) iq"i  (D) lqeu 

funsZ'k (iz'u la[;k 28 ls 33 rd)
uhps nh xbZ dkO;&iafDr;ksa dks i<+dj lcls mfpr 
fodYi dk p;u dhft,%

lfn;ksa dh BaMh&cq>h jk[k lqxcqxk mBh]
  feêh lksus dk rkt igu bBykrh gS_
  nks jkg] le; osG jFk dk ?k?kZj&ukn lquks
  flagklu [kkyh djks fd turk vkrh gSA
  turk] gk¡] feêh dh vcksèk ewjrsa ogh]
  tkMs+&ikys dh dld lnk lgus okyh
  tc vax&vax esa yxs lk¡i gksa pwl jgs]
  rc Hkh u dHkh eq¡g [kksy nnZ dgus okyhA
 28. dkO; esa fdl turk dh vksj laosGr fd;k x;k 

gS\
  (A) ftls cksèk gS
  (B) ftls lk¡i dkVrs gSa
  (C) tks [ksrksa&[kfygkuksa] dkj[kkuksa esa dke 

djrh gS
  (D) tks jFk pykrh gS
 29. ^^le; osG jFk dk ?k?kZj&ukn lquks** iafDr dk 

vk'k; gSµ

  (A) vc le; cny jgk gS
  (B) le; dk jFk c<+k vk jgk gS
  (C) le; dksykgy dj jgk gS
  (D) le; us ;q¼&ukn ctk fn;k gS
 30. ^^flagklu [kkyh djks fd turk vkrh gSA** 

iafDr dk Hkko gSµ
  (A) jktk osG flagklu dks [kkyh djuk gksxk
  (B) turk] jktk dk flagklu fgyk nsxh
  (C) lkjh turk vc flagkluksa ij gh cSBsxh
  (D) jktra= osG fo#¼ yksdra= dk Lokxr 
 31. lkekU; turk us vc rd cgqr d"V lgs 

gSaµbl Hkko dks O;ÙkG djus okyh iafDr gSµ
  (A) turk] gk¡] feêh dh vcksèk ewjrsa ogh
  (B) tkM+s&ikys dh dld lnk lgus okyh
  (C) lfn;ksa dh BaMh&cq>h jk[k lqxcqxk mBh
  (D) feêh lksus dk rkt igu bBykrh gS
 32. ^lk¡i* fdldh vksj laosGr djrk gS\
  (A) fo"kSys lk¡iksa dh vksj
  (B) t+ehnkjksa dh vksj
  (C) 'kks"kdksa dh vksj
  (D) lwn[kksjksa dh vksj
 33. ^lqxcqxk mBuk* dk vFkZ gS
  (A) jk[k dk ty mBuk
  (B) vi+Gokg iSGykuk
  (C) èkhjs&èkhjs dguk
  (D) vius go+G osG fy, iz;Ru'khy gksuk

funsZ'k (iz'u la[;k 34 ls 40 rd)
dfork dh iafDr;k¡ i<+dj fuEufyf[kr iz'uksa esa 
lcls mfpr fodYi pqfu,µ

,d gh nh;k] Lusg ls Hkjk]

izse dk izdk'k] izse ls /kjk]

f>yfeyk gok dks fryfeyk jgk

T;ksfr dk fu'kku tks fgyk jgk

eqLdjk jgk gS va/kdkj ij!

;g etkj gS fdlh 'kghn dk]

n'kZuh; Fkk tks pk¡n bZn dk]

ns'k dk liwr Fkk] xqeku Fkk

lR; dk Lo:i ukStoku Fkk

tks pyk fd;k lnk nq/kkj ij!

 34. gok D;ksa fryfeyk jgh gS\

  (A) nh;s ds pyus ls

  (B) nh;s ds fujUrj tyus ls

  (C) nh;s ds Lusg ls

  (D) va/kdkj gksus ls

 35. bZn dk pk¡n fdls dgk x;k gS\

  (A) et+kj dks

  (B) n'kZuh;&LFky dks

  (C) 'kghn dks

  (D) ukStokuksa dks
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 36. 'kghn dh dkSu&lh fo'ks"krk crkbZ xbZ gS\

  (A) og lPpk balku Fkk

  (B) og ryokjckth esa fuiq.k Fkk

  (C) bZn ds fnu iSnk gqvk Fkk

  (D) mls vius Åij cgqr ?ke.M Fkk

 37. dfork esa ^va/kdkj* 'kCn ls vk'k; gSµ

  (A) re (B) jkf=

  (C) cqjkb;k¡ (D) pqukSfr;k¡

 38. ^n'kZuh;* 'kCn esa izR;; gSµ

  (A) bZ; (B) uh;

  (C) bZ (D) ;

 39. ^gok* dk i;kZ;okph 'kCn ugha  gSµ

  (A) vfuy (B) ek#r

  (C) lehj (D) vuy

 40. ßHkk"kk vkSj fpUru esa lEcU/k gksrk gSAÞ ;g 
dFkuµ

  (A) iw.kZr% lgh gS

  (B) vkaf'kd :i ls lgh gS

  (C) iw.kZr% xyr gS

  (D) O;FkZ dk gS
funsZ'k (iz'u la[;k 41 ls 47 rd)

uhps nh xbZ iafDr;ksa dks i<+dj lcls mfpr fodYi 
dk p;u dhft, %

 nEHk dk tgk¡&tgk¡ iM+ko Fkk]

 lR; ls tgk¡&tgk¡ nqjko Fkk]

og pyk fd vfXu&ck.k ekjrk

iki dh vgk&vgk mtkM+rk]

otz cu fxjk fxjs fopkj ij!
 41. ^fxjs fopkj* ls rkRi;Z gSµ
  (A) lHkh izdkj osG fopkj
   (B) feF;k fopkj
  (C) lR; vkSj fgr ls ijs fopkj
  (D) my>s fopkj
 42. ukStoku 'kghn us vfXu&ck.k blfy, pyk, 

D;ksafd ogµ
  (A) viuk lkezkT; LFkkfir djuk pkgrk FkkA
  (B) lqjkt LFkkfir djuk pkgrk FkkA
  (C) otz fxjkuk pkgrk FkkA
  (D) viuh 'kfDr dh xfjek cuk, j[kuk 

pkgrk FkkA
 43. ^nqjko* 'kCn ls rkRi;Z gSµ
  (A) nqxZe LFky  (B) vkoj.k
  (C) dkfBU; (D) cSj
 44. ^tgk¡&tgk¡* 'kCn gSµ
  (A) ,dkFkhZ 'kCn&;qXe
  (B) iqu#Dr 'kCn&;qXe
  (C) foijhrkFkZd 'kCn&;qXe
  (D) fHkUukFkhZ 'kCn&;qXe
 45. ^iki* dk foykse 'kCn gSµ

  (A) izk;f'pÙk  (B) viki
  (C) iq.; (D) fujijk/k
 46. ukStoku 'kghn us fdls u"V fd;k\
  (A) vgadkj dks
  (B) vlR; dks
  (C) vgadkj vkSj lR; dks
  (D) vgadkj vkSj vlR; dks
 47. mPp izkFkfed Lrj ij dgkuh] dfork i<+kus 

osG ckn ;g T+k:jh gS fd cPpsµ
  (A) iz'uksa osG fyf[kr mÙkj ns losaGA
  (B) mls vius 'kCnksa esa nksgjk losaGA
  (C) foijhr Hkko dh dgkuh ;k dfork fy[k 

losaGA
  (D) mUgsa vius vuqHko lalkj ls tksM+ losaGA

funsZ'k (iz'u la[;k 48 ls 53 rd)
dfork dh iafä;k¡ i<+dj fuEufyf[kr ç'uksa esa lcls 
mfpr fodYi pqfu,A

es?k vk,] cM+s cu&Bu ds l¡oj ds
vkxs&vkxs ukprh&xkrh c;kj pyh
njokts&f[kM+fd;k¡ [kqyus yxha xyh&xyh
ikgqu T;ksa vk, gksa xk¡o esa 'kgj dsA
es?k vk, cMs+ cu&Bu ds l¡oj ds 
isM+ >qd >k¡dus yxs xjnu mpdk,
vk¡/kh pyh] /kwy Hkkxh ?kk?kjk mBk,]
ck¡dh fprou mBk unh fBBdh ?kw¡?kV       

      ljdsA
es?k vk, cMs+ cu&Bu ds l¡oj dsA
cw<+s ihiy us vkxs c<+dj tqgkj dh 
cjl ckn lqf/k yhUgha
cksyh vdqykbZ yrk vksV gks fdokj dh 
gjlk;k rky yk;k ikuh ijkr Hkj ds
es?k vk, cMs+ cu&Bu ds l¡oj ds 
f{kfrt&vVkjh xgjkbZ nkfeuh nedh]
{kek djks xk¡B [kqy xbZ vc Hkje dh
ck¡/k VwVk >j&>j feyu ds vJq <jds]
es?k vk, cMs+ cu&Bu ds l¡oj ds 

 48. ^es?k vk, cM+s cu&Bu ds l¡oj ds* iafä dk 
Hkko fdlesa gS\

 (A) cknyksa us lwjt dks <d fy;k gS 
 (B) cknyksa us fctyh ls Ük`axkj fd;k gS

 (C) ckny lt&/kt dj vk, gSa
  (D) Hkwjs&dkys ckny vkdk'k esa f?kj vk, gSa
 49. es?kksa ds vkus ls yxrk gS

 (A) ckny vkleku eas Nk x, gSa
  (B) ekuksa dgha mRlo euk;k tk jgk gS
 (C) ekuks xk¡o esa 'kgj ls esgeku vk, gksa
 (C) mi;qZDr esa ls dksbZ ugha
 50. ^cjl ckn lqf/k yhUgha* & bl iafä dk Hkko 

fdlesa gS\
 (A) ckny ,d cjl ds ckn vk, gSaA
 (B) cknyksa us ;kn fd;k gS

 (C) ckny cu l¡oj dj vk, gSa
  (D) ckny esgeku cu dj vk, gSaA

 51. iwjh dfork esa dkSu&lk vyadkj gS\
 (A) 'ys"k vyadkj
 (B) :id vyadkj
 (C) ekuohdj.k vyadkj
  (D) mRizs{kk vyadkj

 52. cw<+s ihiy us fdl izdkj es?kksa dk Lokxr fd;k\
 (A) >qddj iz.kke djds
  (B) izlék gksdj
 (C) xys yxkdj
  (D) vkxs c<+dj
 53. ^ikgqu* 'kCn dk D;k vFkZ gS\
 (A) vkuk (B) ikyuk
 (C) esgeku  (D) iSj 

mÙkjekyk

vifBr x|ka'k
 1. (B) 2. (A) 3. (A) 4. (D) 5. (B)

 6.  (A) 7. (D) 8. (D) 9.  (D) 10. (B)

 11. (B) 12. (C) 13. (A) 14.  (A) 15. (B)

 16.  (A) 17. (B) 18. (C) 19.  (B) 20. (A)

 21. (D) 22. (D) 23. (D) 24.  (C) 25. (A)

 26.  (C) 27. (A) 28. (B) 29.  (D) 30. (B)

 31. (C) 32. (B) 33. (D) 34.  (A) 35. (D)

 36.  (B) 37. (D) 38. (B) 39.  (A) 40. (A)

 41. (D) 42. (B) 43. (C) 44.  (A) 45. (B)

 46.  (D) 47. (B) 48. (C) 49.  (D) 50. (A)

 51. (A) 52. (C) 53. (A) 54.  (B) 55. (C)

 56.  (B) 57. (C) 58. (A) 59.  (C) 60. (D)

 61. (C) 62. (B) 63. (A) 64.  (B) 65. (B)

 66.  (C) 67. (B) 68. (B) 69.  (B) 70. (C)

 71. (B) 72. (B) 73. (C) 74.  (A) 75. (B)

vifBr i|ka'k
 1. (A) 2. (D) 3. (A) 4. (B) 5. (B)

 6.  (B) 7. (A) 8. (C) 9.  (D) 10. (D)

 11. (B) 12. (B) 13. (B) 14.  (B) 15. (A)

 16.  (D) 17. (A) 18. (A) 19.  (A) 20. (B)

 21. (C) 22. (A) 23. (D) 24.  (C) 25. (A)

 26.  (B) 27. (A) 28. (C) 29.  (A) 30. (D)

 31. (B) 32. (C) 33. (D) 34.  (B) 35. (C)

 36.  (A) 37. (C) 38. (A) 39.  (D) 40. (A)

 41. (C) 42. (B) 43. (D) 44.  (B) 45. (C)

 46.  (D) 47. (D) 48. (C) 49.  (C) 50. (A)

 51. (C) 52. (D) 53. (C)

qq
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Direction (Q. No. 1 to 9)

Read the given passage and answer the
questions that follow by selecting the most
appropriate option :

Renowned educationalist Sir Tim Brighouse,
observed that an outstanding school has four
factors that are visible. “Teachers talk about
teaching, teachers observe each other’s prac-
tice, teachers plan, organize and evaluate their
work together rather than separately, and that
teachers teach each other.”
He continues : “One of the reasons I like that
is that you can immediately see ways in which
you could make it more likely that teachers
talk about teaching.”
Sir Tim then encouraged schools to focus on
activities that were low effort but high impact,
describing them as “butterflies”. Some exam-
ples he gave included rotating staff meetings
around different classrooms with the host, at
the start, describing the room layout and dis-
plays, or discussing other teaching techniques
and approaches. With modern technology
teachers could observe their own lessons and
then when viewing them back, decide whether
they want to share them with a mentor.
The role of mentoring was vital and suggested
that more schools could send teachers out in
small groups to learn from colleagues in other
schools.
He said : “If this were widespread practice, if
people were to attend to their butterflies, the
outcome in terms of teacher morale and teach-
er satisfaction would be positive. We all agree
that professional development is the vital in-
gredient”.

1. In the mode suggested by Sir Tim,
teachers may self-evaluate and self-
reflect
(A) using technology

Comprehension
[Questions based on Inference, Grammar and Verbal Ability]

Important Questions
(B) without technology
(C) through a students’ survey
(D) interviewing each other

2. ‘Teachers talk about teaching’ means
that they
(A) make some suggestions
(B) discuss their own practices
(C) criticize one another
(D) freely change opinions

3. ‘Low effort but high impact’ in this
context implies that schools
(A) pay teachers a lower salary
(B) extract more work for the same pay
(C) decrease the work load and salary
(D) create opportunities within the

system for development
4. In this extract, it is observed that

technology supports teachers to
(A) improve students
(B) conduct meetings for teachers
(C) follow-up remediation activities for

students
(D) self-diagnose their practices

5. Here, ‘visible’ means
(A) seen (B) obvious
(C) appealing (D) bright

6. ‘Rotating staff meetings in the class
rooms’ permits teachers to
(A) be informal with each other
(B) miss some of them
(C) share their own practices with
others
(D) keep busy all the time

7. A synonym for the word, ‘counselling’,
from the passage is
(A) describing (B) mentoring
(C) discussing (D) teaching

8. The talk by Sir Tim is about the
(A) teachers who dress like butterflies.
(B) Visiting schools to socialise.
(C) knowledge teachers gain for job

growth.
(D) schools who control their teachers.

9. “Butterflies” here refer to
(A) the dress code.

(B) a practice of staff interaction.
(C) changing schools.
(D) going to classes in rotation.

Direction (Q. No. 10 to 18)

Read the passage given below and answer
the questions that follow try selecting the
most appropriate option.

The Big Ben
Every evening, some part of the British Com-
monwealth hears the chimes of Big Ben, larg-
est of the bells in the clock tower of the Palace
of Westminster. The bell is popularly called
Big Ben, and it is this bell which chimes out
the quarter hours to the people of London. For
Britons at sea or living in distant lands, the
sound of Big Ben is still a link with home, for
the chimes are broadcast each evening by the
British Broadcasting Corporation.
Big Ben has been chiming out the quarter
hours now for more than one-and-a-half cen-
turies. It started chiming on June 11, 1859.
At that time, the Parliament couldn’t decide
what to name the bell. A light-hearted Member
of Parliament called attention, in a speech, to
the impressive bulk of Sir Benjamin Hall,
Queen Victoria’s Chief Lord of the Woods and
forests.
‘‘Call it Big, Ben’’ said the speaker, and the
name stuck.
Big Ben is 9 feet in diameter, 7 feet 6 inches
tall, and the thickness where the hammer
strikes in  8.75 inches.
The clock that regulates the climing of Big Ben
keeps good time. In 1939, the Royal Astrono-
mer made a 290-day check on the performance
of the clock. He found that during this test, the
margin of error was less than two-tenth of a
second in 24 hours on 93 days and greater than
one second only on 16 of the 290 days.
There was an unexpected lapse on August 12,
1945, and consternation swept through the
Ministry of Works. On that dark day, the
clock was five minutes slow. A flock of star-
lings had roosted on the minute hand.

10. Aside from popular usage, Big Ben is
really the ..................
(A) name of Chief Lord of the Woods

and Forests

A Comprehension Exercise is mainly consisted of a passage,
upon which questions are set. The main purpose of this exercise
is to test the ability of a student.
Therefore student is need to read the passage carefully and
choose the correct answer out of the given alternatives.

Poem is a form of literary art which uses aesthetic and rhythmic
qualities of language such as phonoaesthetic sound symbolism
etc. ‘Poem’ comes from the Greek word poiēma which means a
“thing made.”

Chapter
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(B) Clock tower of the Palace of
Westminster

(C) great bell in the clock tower of the
Palace of Westminster

(D) exclusive radio signal of the BBC
11. The year 1959 was the .......................

(A) year in which Big Ben was restored
(B) 59th anniversary of Big Ben
(C) last year Big Ben was heard
(D) 100th anniversary of Big Ben

12. The word ‘consternation’ used in the
last paragraph stands for :
(A) sorrow (B) anxiety
(C) despair (D) alarm

13. In the Royal Astronomer’s 290-day
check, it was established that :
(A) the clock was maintaining accurate

time on all days
(B) the clock was reasonably accurate
(C) the clock was losing time

alarmingly
(D) the clock did not function properly

for 93 days
14. On August 12, 1945, Big Ben’s clock

was .............
(A) 5 minutes fast
(B) bombed
(C) 5 minutes slow
(D) being checked for accuracy

15. For the Britons at sea or living in distant
lands, the Big Ben serves as a link with
home. It shows that :
(A) the British are very sentimental
(B) the British are fond of travelling to

far-off lands
(C) the Big Ben has become a powerful

national symbol
(D) the British are very patriotic

16. People outside London can hear the
chimes of the Big Ben because :
(A) the recording of the bell’s chime is

available all over the world
(B) the bell’s sound is so loud that it

can travel to all parts of the world
(C) the legendary bell has become a

global phenomenon
(D) the BBC broadcasts the chimes

17. The clock lost five minutes once
because :
(A) there was an unexpected lapse
(B) the maintenance was not done by

the Ministry of Works
(C) it was a dark day
(D) some starlings had roosted on the

minute hand
18. ‘‘Call it Big Ben’’ can be written in pas-

sive voice as :
(A) You will call it Big Ben
(B) Let it be called Big Ben

(C) People should call it Big Ben
(D) We may call it Big Ben

Direction (Q. No. 19 to 27)

Read the given passage and answer the
questions that follow by selecting the most
appropriate option.

Clearly the socialization of gender is rein-
forced at school. ‘‘Because classrooms are mi-
crocosms of society, mirroring its strengths
and ills alike, it follows that the normal social-
ization patterns of young children that often
lead to distorted perceptions of gender roles
are reflected in the classrooms.’’ (Marshall,
1997). Yet gender bias in education reaches
beyond socialization patterns, bias is embed-
ded in textbooks, lessons, and teacher interac-
tions with students. This type of gender bias
is part of the hidden curriculum of lessons
taught implicity to students through the ev-
eryday functioning of their classroom.
Research has found that boys were far more
likely to receive praise or remediation from a
teacher than were girls. The girls were most
likely to receive an acknowledgement re-
sponse from their teacher. They give boys
greater opportunity to expand ideas and be
animated than they do girls and that they rein-
force boys more for general responeses than
they do for girls. Clearly the socialization of
gender roles and the use of a gender-biased hid-
den curriculum lead to an inequitable educa-
tion for boys and girls. Gender-bias in educa-
tion is an insidious problem that causes very
few people to stand up and take notice.

19. Socialization is a process of :
(A) learning to accept moral values of a

society
(B) causing to conform to environmen-

tal demands
(C) succumbing to psychological pres-

sures
(D) moldig a child to conform to certain

norms of behaviour
20. A ‘microcosm of society’ :

(A) imitates life outside the classroom
learning environment

(B) has educational facilities
(C) has excellent learning environment
(D) reflects the exceptional achieve-

ments of its government
21. A ‘perception’ referred to here is that :

(A) there is no bias in schools
(B) school curriculum supports the girl

child
(C) boys are more intelligent and lively
(D) teachers balance the bias

22. A word from the essay which is the op-
posite of ‘demonstrated’ is :

(A) distorted (B) animated
(C) clearly (D) implicit

23. ‘Remediation’ in the classroom is the
process of :
(A) stopping a negative trend in learn-

ing achievement
(B) error correction orally during class
(C) reinforcement of good behaviour

among learners
(D) giving special coaching for quiet

students
24. In ‘inequitable education’

(A) learning is not a balanced process
between the genders

(B) boys get more school hours
(C) course books are prescribed differ-

ently for boys and girls
(D) teachers disrespect girls

25. An ‘insidious problem’ would be one
that is caused seemingly :
(A) ignorantly (B) deliberately
(C) harmlessly (D) carelessly

26. A ‘hidden curriculum’ implies here that :
(A) girls need more attention while

teaching
(B) boys need preferential treatment
(C) the school system enforces sexual

stereotypes
(D) the curriculum is gender-biased

27. A synonym for ‘general’ is :
(A) special (B) customary
(C) diminutive (D) precise

Direction (Q. No. 28 to 36)

Read the passage given below and answer
the questions that follow by selecting the
most appropriate option.

Surviving a Snakebite
1. Annually, there are a million cases of

snakebite in India and of these, close to
50,000 succumb to the bites.

2. When you look around the countryside,
where most bites occur, and notice
people’s habits and lifestyles, these
figures aren’t surprising. People walk
barefoot without a torch at night when
they are most likely to step on a  foraging
venomous snake.

3. We encourage rodents by disposing
waste food out in the open, or by storing
foodgrains in the house. Attracted by the
smell of rats, snakes enter houses and
when one crawls over someone asleep on
the floor and the person twitches or rolls
over, it may bite in defence.

4. Once bitten, we don’t rush to the
hospital. Instead, we seek out the nearest
conman, tie tourniquets, eat vile tasting
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herbal chutneys, apply poultices or
spurious stones, cut/slice/suck the bitten
spot, and other ghastly time-consuming
deadly ‘‘remedies’’.

5. As Rom cattily remarks : ‘‘If the snake
hasn’t injected enough venom, even
popping an aspirin can save your life.’’
That’s the key — snakes inject venom
voluntarily and we have no way of
knowing if it has injected venom, and if it
is a lethal dose. The only first aid is to
immobilise the bitten limb like you
would a fracture, and get to a hospital for
anti-venom serum without wasting time.

28. Of the people who are bitten by snakes
in India, the fatality rate is :
(A) 5% (B) 25%
(C) 50% (D) 100%

29. According to the author, people living in
which parts are more prone to snake
bites?
(A) Crowded cities
(B) The open
(C) Villages
(D) Forests

30. Storing foodgrains in the house is one of
the causes for snake bites because :
(A) foodgrains attract rats which in turn

attract snakes
(B) snakes enter houses in search of

stored foodgrains
(C) the smell of foodgrains brings both

snakes and other animals into the
house

(D) stored foodgrains create convenient
hiding places for snakes within
houses

31. ‘... it may bite in defence’ (para-3). This
observation implies that :
(A) a snake is very good at defending

itself
(B) a snake may bite a human being in

order to defend its prey
(C) human beings are defenceless

against snakes
(D) a snake bites a human only when it

is threatened
32. What, according to the author, is the

reason for the high fatality rate due to
snakebites in India?
(A) Shortage of medical facilities
(B) Lack of scientific knowledge about

snakebites
(C) Shortage of anti-venom serum
(D) Shortage of doctors

33. In the instance of a snakebite, what
should we do immediately?
(A) Tie  tourniquets
(B) Eat herbal chutneys
(C) Immobilise the bitten part and get

anti-venom serum
(D) Cut-slice-suck the bitten spot

34. Pick out a word from the passage which
means ‘to go around in search of food’.
(Para-2)
(A) Foraging (B) Countryside
(C) Venomous (D) Barefoot

35. ‘‘If the snake hasn’t injected enough
venom, even popping an aspirin can
save your life.’’ This sentence can be
rewritten without changing the meaning
as :
(A) When a snake has not injected

enough venom, life can be saved
even by swallowing an aspirin.

(B) Life can be saved even by
swallowing an aspirin, even
though the snake hasn’t injected
enough venom.

(C) Even popping an aspirin can save
your life, in spite of a snake not
having injected enough venom.

(D) As long as you are popping an
aspirin to save your life, the
snake will not inject enough
venom.

36. Pick out a word from the passage, that
means ‘having the power to cause death’
: (Para 5)
(A) immobilise (B) voluntarily
(C) lethal (D) serum

Direction (Q. No. 37 to 44)

Read the passage given below and answer
the questions that follow by choosing the
correct/most appropriate options :

1. The study of handwriting is known as
graphology and it has been practised for
hundreds of years. Professional
forensic graphologists  have worked on
many court cases to use handwriting to
link suspects with crimes.

2. Handwriting is praticularly important
legally in the case of signatures and
proving whether signatures are real or
forged can be pivotal. Graphologists
also work to verify whether autograph
are real or fake.

3. Some handwriting analyste also study
writing samples to determine
personality types and some businesses
commission this analysis before hiring
new employees. The method is even
sometimes used to help couples see if
they are compatible. According to
graphologists, there is very little you
can’t tell from a person’s handwriting.

4. From psychological conditions like
high blood pressure and schizophrenia
to personality traits like dominance and
aggression : if you write by hand,
graphologists can analyse you.

5. Everything from the size of your letters
to how closely you space words can
reveal intricate details of your

personality. In general, the size of your
letters can reveal whether you are shy
or outgoing. Compared to a standard
lined sheet of paper, if you write with
tiny letters that do not reach the top
line, you are likely to have a timid and
introverted personality. If you write
with large letters that go over the
topline, you are likely to be the
opposite: outgoing, confident and
attention seeking.

6. Studies suggest that people who space
words widely like freedom and
independence, whereas those choosing
to write with small spaces prefer to be
among others and do not like to be
alone.

37. Which part of speech is the underlined
word in the following sentence ?
Graphologists can verify whether the
autographs are real or fake?
(A) Conjuction (B) Adverb
(C) Preposition (D) Pronoun

38. Which of the following statements is not
true ?
Handwriting is used by graphologists to
(A) predict about a person’s future

criminal tendency.
(B) nail criminals.
(C) verify genuieness of signatures.
(D) help couples to determine their

suitability to each other.
39. A garphologist can give accurate

information about
(A) a person’s chances of success.
(B) a person’s popularity graph.
(C) a person’s mental health.
(D) setbacks a person is likely to face in

future.
40. A person who writes with large letters

that cross over to the top line is likely to
be
(A) diffident (B) Outgoing
(C) introverted (D) aggressive

41. An attention seeking, confident person
writes with
(A) rounded letters.
(B) tiny letters.
(C) cursive letters.
(D) large letters.

42. Read the following statements :
A. Graphology has been practised for

thousands of years.
B. A person’s handwriting reveals

everything about him.
(A) Both A and B are false.
(B) A is true and B is false.
(C) A is false and B is true.
(D) Both A and B are true.
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43. Which one of the following words is
similar in meaning to the word, ‘verify’
(Para-2) as used in the passage ?
(A) Discover (B) Clarify
(C) Confirm (D) Notify

44. Which one of the following words is
opposite in meaning to ‘reveal’ (Para-5)
as used in the passage ?
(A) Teal (B) Blacken
(C) Repeal (D) Conceal

Direction (Q. No. 45 to 51)

Read the passage given below carefully and
answer the questions that follow by selecting
the correct/most appropriate options.
1. There is something we all want to do,

although few of us readily admit it : Get
rid of guests.

2. For nine months in the year, only my
closest friends come to see me. Then,
when temperatures start soaring in the
plains, long-lost acquaintances suddenly
remember that I exist, and people  whom  I
am barely able to recognize appear at the
front door, willing to have me put them up
for periods ranging from six days to six
weeks.

3. Occasionally, I am the master of the
situation I inform them that the cottage is
already bursting, that people are sleeping
on the floor. If the hopefuls start looking
around for signs of these uncomfortable
guests, I remark that they have all gone
out for a picnic.

4. The other day I received visitors who
proved to be more thicks-skinned than
most. The man was a friend of a friend of
an acquaintance of mine. I had never seen
him before. But on the strength of this
distant relationship, he had brought his
family along.

5. I tried the usual ploy but it didn’t work.
The man and his family were perfectly
willing to share the floor with any others
who might be staying with me.

6. So I made my next move. ‘I must warn
you about the scorpions’, I said. The
scorpion-scare is effective with most
people. But I was dealing with
professionals. The man set his son rolling
up the carpet. ‘Sometimes centipedes fall
from the ceiling’, I said desperately.

7. We were now interrupted by someone
knocking on the front door. It was the
postman with a rejected manuscript, his
arrival inspired  me to greater
inventiveness.

8. ‘I’ m terribly sorry’, I said, staring hard at
a rejection slip. ‘I’ m afraid I have to leave
immediately. A paper wants me to
interview the Maharishi. I hope you

won’t mind. Would you like the name of
good hotel ‘?

9. ‘Oh, don’t worry about us’, said the
woman expansively. ‘We’ll look after
the house while you are away’.

45.Which part of the following sentence
contains an error ?
Both Raghunath as well as Ravish

(a)
have given their consent

(b) (c)
to the new proposal

(d)
(A) (b) (B) (d)
(C) (a) (D) (c)

46. Which of the following is true ?
People who visit the author at the onset
of the summer are
(A) his colleagues.
(B) his old school mates.
(C) his closet friends and relatives.
(D) people whom he hardly knows.

47. Which one of the following ploys does
the author not use to get rid of unwanted
guests ?
(A) He has already too many guests.
(B) The place is infested with

7scorpions.
(C) Centipedes fall from the ceiling.
(D) There is acute water scarcity.

48. Which of the following does not apply
to the unwelcome guest ?
(A) They don’t have enough money to

stay at a hotel.
(B) They are utterly shameless.
(C) They want to enjoy themselves at

the author’s expense.
(D) They are thick-skinned.

49. The postman delivered to the author
(A) a letter commissioning him to write

a new novel.
(B) a letter inviting him to interview the

Maharishi.
(C) his rejected manuscript along with a

cheque.
(D) his rejected manuscript along with a

rejection slip.
50. Which one of the following words is

similar in meaning to the words, ‘readily’
(Para-1) as used in the passage ?
(A) plainly (B) frankly
(C) easily (D) efficiently

51. Which one of the following words is
opposite in meaning to the word,
‘soaring’ (Para-2) as used in the passage ?
(A) deteriorating (B) hovering
(C) exasperating (D) falling

Direction (Q. No. 52 to 59)

Read the passage given below and answer
the questions that follow by choosing the
correct/most appropriate options :

Freedom is one of the most important factors
in life. Man has fought politically all over the
world for freedom. Religions have promised
freedom, not in this world but in another. In
the capitalist countries, individual freedom
exists to some degree and in the communist
world it has been denied. From ancient times,
freedom has meant a great deal to man and
there have been its opponents, not only
political but religious through Inquisition, by
excommunication, tortures and banishments
and the total denial of man’s search for
freedom. There have been wars and counter-
wars fought for freedom. This has been the
pattern of man’s endeavours for freedom
throughout history.
Freedom of self-expression and freedom of
speech and thought exist in some parts of the
world, but in others it does not. Those who
have been conditioned, revolt against their
backgrounds. This reaction which takes
different forms is called ‘freedom’. The
reaction to politics is often to shun the field of
politics.
One economic reaction is to form small
communities based on some ideology or under
the leadership of one person, but these soon
disintegrate. The religious reaction against
established organisations of belief is to revolt,
either by joining other religious organisations
or by following some guru or leader or by
joining some cult. Or one denies the whole
religious endeavour.
One thinks of freedom only as freedom of
movement, either physical or movements of
thought. It appers that one always seeks
freedom on the surface. Surely, this is rather a
limited freedom, involving a great deal of
conflict, wars and violence.
Inner freedom is something entirely different.
It has its roots not in the idea of freedom but in
the reality of freedom. It covers all the
endeavours of man. Without inner freedom life
will always be an activity within the  limited
circle of time and conflict.

52. Real freedom, according to the author,
is :
(A) inner freedom.
(B) political freedom.
(C) religious freedom.
(D) economic freedom.

53. Read the following sentences :
1. Individual freedom does not exist at

all in capitalist countries.
2. People do not have individual

freedom in communist countries.
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(A) 1 is true, 2 is false.
(B) Both 1 and 2 are true.
(C) Both 1 and 2 are false.
(D) 1 is false, 2 is true.

54. Which word is most similar in meaning
to the word ‘endeavours’ as used in the
passage ? (Para 1)
(A) attempts
(B) actions
(C) challenges
(D) movements

55. Which word is the most opposite in
meaning to the word, ‘shun’ as used in
the passage ? (Para 2)
(A) rehabilitate
(B) welcome
(C) rejoice
(D) prefer

56. Which part of the following sentence
contains an error ?
There is no doubt  that hard work

        (a) (b)
paves the way to success.

        (c) (d)
(A) (a) (B) (b)
(C) (c) (D) (d)

57. Which of the following statements is
not true ?
(A) Material progress cannot be

achieved without freedom.
(B) Freedom is not one of the most

important factors in life.
(C) Freedom helps man evolve

morally and spiritually.
(D) Man can enjoy life only in an

environment of freedom.
58. Which methods do authorities not use

to suppress people fighting for
freedom ?
(A) Excommunication
(B) Persuasion
(C) Tortures
(D) Inquisition

59. Reaction against established religion
prompts people not to :
(A) to start a new religion.
(B) follow some guru.
(C) join some cult.
(D) join other religious organisations.

Direction (Q. No. 60 to 66)

Read the passage given below carefully and
answer the questions that follow by
selecting the correct/most appropriate
options :

Water is the core of life; hence water must be
central to our spiritual thinking. Water is not
only most of earth, but also most of life.
Therefore water conservation must be our
deepest concern.
The Himalayan mountain range is among the
highest, youngest and most fragile ecosystem
of the planet. The Himalayas have given us
some of the great river systems of the earth
including the Indus, Ganga, Brahmaputra,
Nu Salween, Yangtze and the Mekong. The
Himalayas are also called the “Third Pole”, for
they contain the largest mass of ice and snow
outside the earth’s polar region, the north and
south poles. There is a permanent snowline
above 5,000 metres. Some of the glaciers in the
region are the longest outside the two poles.
The Himalayas serve as water towers,
providing water on a sustained basis to more
than 1,000 million people and millions of
hectares of land in South Asia. The greenery
benevolent climate, highly productive
ecosystems, food production and overall
happiness is south Asia. are in fact,
attributable to the bounty of the Himalayas.
They are not only beautiful; they are life-
givers. Little wonder that they are venerated
as the abode of gods.
To keep the Third Pole preserved through
assured conservation is one of the greatest
challenges for the contemporary world.
Himalayan mountains are a common but
fragile natural resource. As mountain
ecosystems have enormous bearing on the
earth’s systems, their special care, regene-
ration and conservation of their pristine
resources would only bring more happiness,
peace and prosperity to large parts of the
world. In Agenda 21, Chapter 13 of the United
Nations, the importance of mountains is
underlined : “mountain environments are
essential to the survival of global ecosy-stems.”
The Himalayas in the state of Uttarakhand are
especially rich in water resources. This area is
home to dozens of perennial streams and
numerous other rain-fed rivers along with
innumerable rivulets, waterfalls and ponds,
etc.

60. What is not so special about the
Himalayas in the state of Uttarakhand ?
The Himalayan state has :
(A) huge mineral deposits.
(B) many rain fed rivers.
(C) numerous waterfalls and ponds.
(D) many perennial streams.

61. Which one of the following words is
most similar in meaning to the word,
‘bounty’ ?

(A) assets (B) sympathy
(C) abundance (D) generosity

62. Which word is opposite in meaning to
the word, ‘benevolent’ ?
(A) rude (B) untruthful
(C) indecent (D) malevolent

63. Which part of speech is the underlined
word in the following sentence ?
The area is home to dozens of
perennial streams.
(A) Adverb (B) Adjective
(C) Pronoun (D) Noun

64. In the context of the passage which of
the following is not true ?
Water should be central to our thinking
because :
(A) It is a life-line for our farmers.
(B) It is considered holy by most

religions.
(C) It is the core of life.
(D) We cannot survive without water.

65. Which of the following has not been
mentioned in the passage ?
(A) The Himalayas provide water to

more than 1000 million people.
(B) The Himalayas irrigate millions of

hectares of land.
(C) the Himalayas form the back bone

of our tourism industry.
(D) The Himalayas provide us with

highly productive eco-systems.
66. Which of the following is false ?

(A) Climate change has little effect on
the Himalayas.

(B) They bring prosperity to large
parts of the world.

(C) They have some of the longest
glaciers.

(D) The Himalayan mountains are a
fragile resource.

Direction (Q. No. 67 to 74)

Read the passage given below and answer
the questions that follow by choosing the
correct/most appropriate options :

On an ordinary workday, 27-year-old Pramila
Bariki hikes up steep slopes across fields,
through ankle-deep rivulets, often walking
upto 14 kms. She gets a ride until the road is
motorable, from which point she has to walk.
Her job ? She doles out healthcare advice to
mothers and children in the remotest hamlets
in the Araku valley of Andhra Pradesh.
Now heavily pregnant Pramila has had to
slow down delegating task to Duridi, Nerraj,
Sunita and others. It’s they who now walk
through forests and climb up mountains,
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visiting families to identify pregnant women
and conduct basic tests for diabetes and
anaemia and connect them with a primary
health centre whenever necessary.
These young tribal women are all trained
auxiliary nurses, part of an experimental
health project in Araku that aims to end
preventable deaths during childbirth or
infancy.
The Araku valley is home to several nomadic
tribes who live in small clusters of 70 to 150
homes situated in rugged and inaccessible
terrains. Until a few years ago these
communities were unaware of government
healthcare policies. The death of a child or a
woman during pregnancy or child birth was
common and they were resigned to it.
Today 38 women like Pramila drawn from
these tribes, have broken social and cultural
barriers to train as nurses and provide medical
care to 1179 hamlets across the Araku, Paderu
and Chintapalli mandals. Since they are from
these communities they have been able create
trust in the families and neighbours about
formal healthcare. As a result these remote
villages have now had the first childbirth in
hospital, the first delivery by a trained nurse
and the first mother not to lose a child.
The nurses advise women on hygiene and
nutrition and convince them to visit the
nearest health centre for further check-ups.
67. Read the following statements :

1. Child mortality rate in the tribal
areas was very high in the past.

2. Pramila and her colleagues are
rendering invaluable services to the
tribal women.

(A) Both 1 and 2 are false
(B) Both 1 and 2 are true
(C) 1 is true, 2 is false
(D) 2 is true, 1 is false

68. Which one of the following words is
similar in meaning to ‘remotest’ as used
in the passage ?
(A) highest (B) tallest
(C) toughest (D) farthest

69. Which one of the following words is
opposite in meaning to ‘trust’ as used in
the passage ?
(A) disrupt (B) dismantle
(C) disdain (D) distrust

70. He could not clear the exam because he
didn’t work hard.
Identify the clause in the underlined part
of the sentence given above :
(A) Noun clause
(B) Principal clause
(C) Adverb clause
(D) Adjective clause

71. Which part of the following sentence
contains an error ?
(a) The sudden rise
(b) and fall of prices
(c) make a business
(d) very uncertain
(A) (c) (B) (d)
(C) (a) (D) (b)

72. The job of the auxiliary nurses is
physically challenging because they :
(A) have to walk through forests and up

mountains to reach out to people
(B) are not liked by the people whom

they want to help
(C) have to face opposition from the

local traditional healers
(D) are not paid any remuneration for

their work
73. The health project launched in the tribal

areas aims to :
(A) provide nutrition to women and

children
(B) provide employment alongwith

education
(C) prevent deaths during pregnancy

and child birth
(D) raise the living standard in the tribal

areas
74. The tribal people trust the health

workers mostly because they :
(A) help them settle their domestic

disputes
(B) belong to their own community
(C) help them get employment
(D) are educated and soft-spoken

Direction (Q. No. 75 to 81)

Read the following passage and answer the
questions that follow by choosing the
correct/most appropriate options :

Kaizen in Japanese means constant and never
ending improvement. There is no pursuit more
noble or important than the pursuit of self-
improvement. As Confucius said many years
ago : “Good people strengthen themselves
ceaselessly.” Consistent and constant
improvement in all areas is essential to reach
your true potential. The personal trademark
of almost every high achiever and successful
person is a dedication to daily improvement in
both their personal and professional lives.
From Ben Franklin to Mahatma Gandhi, from
Martin Luther King Jr. to Ivan Lendl and from
Nelson Mandela to Mother Teresa, effective
people do things daily to advance confidently
in the direction of their goals and dreams.
You must also apply the Kaizen principle on a
daily basis to condition your mind to peak
performance. It has been said that the mind is
a terrible master but a wonderful servant. By
seeking to improve your mind and condition it
to excellence of thought, this wonderful
servant will most certainly bring you all the

peace, prosperity and joy you now search for.
Study any person’s great success story and
you will undoubtedly learn of their
commitment to Kaizen. They will be
dedicated to small, daily improvements in the
key areas of their lives and become the very
best that they could be. Personal mastery is
like a bank account, call it the Personal
Excellence Account. By improving daily,
whether it is by spending some time
exercising, reading, visualizing or forging
better relationships, you are making regular
deposits into your account. After only one
month, for example, you will have improved
the richness and quality of your world by at
least 30%.
75. Read the following sentences :

1. All successful people are commi-
tted to Kaizen.

2. If we can control our mind, it will
serve us wonderfully.

(A) Both 1 and 2 are true
(B) Both 1 and 2 are false
(C) 1 is false and 2 is true
(D) 1 is true and 2 is false

76. Which word is the most similar in
meaning to the word, ‘trademark’ used in
the passage ?
(A) subject (B) brand
(C) item (D) object

77. Which word is the most opposite in
meaning to the word, ‘wonderful’ as
used in the passage ?
(A) unremarkable (B) insufficient
(C) separate (D) deficient

78. Which part of the following sentence
contains an error ?
(a) Since time immemorial
(b) the Hindus
(c) have been worshipping
(d) the river Ganga
(A) (c) (B) (d)
(C) (a) (D) (b)

79. How, according to the author, can we
attain our full potential ?
(A) by seeking the advice and guidance

of successful people
(B) by working hard on our weaknesses
(C) by putting in a lot of effort
(D) by proper and ceaseless

improvement in all areas
80. What is common among the great

people mentioned in para-1 ?
(A) They tried their best to realise their

goals
(B) They resisted every temptation
(C) They inspired all those who came

into contact with them
(D) They worked hard to alleviate the

suffering of the downtrodden
81. How do we stand to gain when we

condition our minds to do our best ?
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(A) We are able to overcome all
obstacles

(B) We realise our full capability
(C) We earn name, fame and wealth
(D) We rise in the estimation of our

friends

Direction (Q. No. 1 to 58)

Read all the poems carefully and answer the
following questions.

Poem-1
I Build Walls

I Build Walls :
Walls that project
Walls that shield
Walls that say I shall not yield or reveal
Who I am or how I feel.
I Build Walls
Walls that hide
Walls that cover what’s inside
Walls that stare or smile of look away
Silent lies,
Wall that even block my eyes
From the tears I might have cried.
I Build walls
Walls that never let me
Truly touch
Those I love so very much
Wall that need to fall!
Wall meant to be fortresses
Are prisons after all.

1. What are the Walls in this poem made of ?
(A) Bricks or any physical material
(B) Cement and tiles
(C) Blood and flesh
(D) Hidden feelings and thought

2. The poet uses “Wall” as a :
(A) Simile
(B) Personification
(C) Metaphor
(D) Alliteration

3. When walls act as a protection, they :
(A) do not reveal what is inside
(B) make one shed tears
(C) touch the ones who are truly loved
(D) surrender to strong feeling

4. The expression ‘silent lies’ in the second
stanza implies that :
(A) walls are silent
(B) walls are liars
(C) walls make one hide one’s true feel-

ings
(D) walls lie silently around all of us

5. Why is it not a good idea to have these
“walls”?
(A) They act as a fortress
(B) They act as a prison and keep loved

ones away

(C) They are made of bricks
(D) They hurt others

6. Walls built to protect us ultimately turn
into a prison. It is an example of a :
(A) satire (B) paradox
(C) puzzle (D) riddle

Poem-2
“The Jamuna’s waters rush by so
quickly,
The shadows of evening gather so
thickly,
Like black birds in the sky.....
O! If the storm breaks, what will be tide
me ?
Safe from the lightning where shall I hide
me ?
Unless Thou succour my footsteps and
guide me.
Ram re Ram! I shall die.”

7. “Like black birds” in the above lines is
an example of :
(A) metaphor (B) simile
(C) hyperbole (D) pun

8. We can find an example of alliteration in
the above lines is
(A) Ram re Ram
(B) I shall die
(C) The Jamuna’s waters
(D) The shadows of evening

Poem-3
Hawk

All eyes are fearful of the spotted hawk,
whose dappled wingspread opens to a
phrase
that only victims gaping in the gaze
of Death occurring can recite. To stalk;
To plunge; to harvest; the denial-squawk
of dying’s struggle; these are but a day’s
rebuke to hunger for the hawk, whose
glazed
accord with Death admits no show of
shock.
Death’s users know it is not theirs to
own,
nor can they fathom all it means to die–
for young to know a different Death
from old.
But when the spotted hawk’s last flight
is flown, he too
becomes a novice, fear-struck by
the certain plummet once these feathers
fold.–   Daniel Waters

9. The denial-squawk refers to the :
(A) hawk’s response to the cry of

its prey
(B) helpless cry of its prey to avert

death

(C) warning call by the hawk before
killing its prey

(D) desperate, pitiable cry of the prey
10. To the hawk, a day’s rebuke to hunger

suggests that the bird :
(A) bows to hunger
(B) causes death by preying on lesser

animals
(C) averts own death by killing and

eating its prey
(D) faces death fearlessly in contrast to

its prey
11. Here, glazed accord with Death means

that :
(A) the prey meets death willingly
(B) death is inevitable
(C) death is in partnership with  star-

vation
(D) the hawk also becomes a victim of

death at the end
12. The word that is closest in meaning to

the word dappled in the poem is :
(A) spotted (B) fearful
(C) glazed (D) flown

13. Here, he too becomes a novice suggests
that :
(A) the hawk’s prey becomes a preda-

tor instead
(B) all living creatures are potentially

victims of others
(C) death comes swiftly to the fearless

hawk
(D) the hawk also meets death, as weak

and helpless as its prey
14. The following line exemplifies the use

of personification as a poetic device :
(A) Death’s users know it is not

theirs to own.........
(B) .... the certain plummet once

these feathers fold
(C) To stalk; to plunge; to har-

vest;.....
(D) But when the spotted hawk’s

last flight is flown.....

Poem-4
Sprinkle, squish between my toes,
The smell of ocean to my nose.
I can feel each grain of sand,
It falls from air into my hand.
The shells I find along the shore,
Picked up by birds that fly and soar.
They sparkle like the ocean’s waves,
And carry sand from all the lakes.
I walk
That’s where my feet leave prints to be.
I walk all the way to the end of the land,
The land that holds this beautiful sand.

—Morgan Swain
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15. The poem’s central theme is :
(A) a recollection of a visit
(B) an introspection by the writer
(C) a factual description of nature
(D) sharing experiences with nature

16. Here, “to the end of the land” refers to
the :
(A) sky (B) horizon
(C) sealine (D) land

17. Her, “That’s where my feet leave prints
to be” means that the writer :
(A) expects to forget the experience
(B) hopes to remember his visit
(C) knows that everything is temporary
(D) relives past visits

18. The phrase in the poem that conveys
the same meaning as “along the tip of
the sea” is :
(A) “air into my hand”
(B) “like the ocean’s waves”
(C) “each grain of sand”
(D) “end of the land”

19. The poetic device used in the line
“They sparkle like the ocean’s waves”
is a/an :
(A) simile (B) allegory
(C) hyperbole (D) exaggeration

Poem-5
We are
These days,
Estranged,
My shadow and I.
It accused me
Of walking in the dark.
It alleged
I walked in the dark
In order to efface it
So it wouldn’t track me
I protested.
I walked alone even in the light,
And in the dark.
When I really needed it,
it abandoned me.
It took off,
Leaving no trace........
My shadow, my partner.
We are these days,
Estranged,
My shadow and I.

20. The poet and his shadow in the present
context are :
(A) in the throes of enmity
(B) great friends
(C) not in the good books of each other
(D) sharing a great camaraderie

21. The shadow’s grouse against the poet
was that :
(A) he walked in the dark purposely

(B) he liked darkness
(C) he wanted to see the last of it
(D) None of the above

22. The poet’s view point was that :
(A) it was never around when he needed

it
(B) it was always around when he

needed it
(C) there was no trace of it
(D) None of the above

23. The word ...... used in the passage
means ‘rub off’.
(A) estranged (B) abandoned
(C) efface (D) alleged

24. The narrator :
(A) has made up with his shadow
(B) is still cross with his shadow
(C) has no grouse against his shadow

anymore
(D) None of the above

Poem-6
Boats sail in the rivers,
And ships sail in the seas;
But clouds that sail across the sky
Are prettier far than these.
There are bridges on the rivers,
As pretty as you please;
But the bow what bridges heaven,
And overtops the trees,
And builds a road from earth to sky
is prettier far than these.

25. Ships sail :
(A) in the rivers
(B) across the sky
(C) in the seas
(D) under the bridges

26. Which is the prettiest ?
(A) Boats (B) Ships
(C) Rivers (D) Clouds

27. A rainbow looks like a :
(A) boundary (B) miracle
(C) bridge (D) heaven

28. ‘These’ in the fourth line does not in-
clude :
(A) boats
(B) rainbow
(C) ships
(D) Both (A) and (C)

29. Which degree of comparison has been
used in the poem ?
(A) Superlative only
(B) Comparative and Positive
(C) Positive and Superlative
(D) None of the above

30. Which one is not colour of the rainbow ?
(A) White (B) Red
(C) Yellow (D) Indigo

Poem-7
Common Cold

1. Go hang yourself, you old M.D.!
You shall not sneer at me.
Pick up your hat and stethoscope,
Go wash you mouth with laundry
soap;
I contemplate a joy exquisite
I’m not paying you for your visit.
I did not call you to be told
My malady is a common cold.

2. By pounding brow and swollen lip;
By fever’s hot and scaly grip;
By those two red redundant eyes
That weep like woeful April skies;
By racking snuffle; snort, and sniff;
By handkerchief after handkerchief;
This cold you wave away as naught
Is the damnedest cold man ever
caught!

3. Bacilli swarm within my portals
Such as were ne’er conceived by
mortals,
But bred by scientists wise and
hoary
In some Olympic laboratory;
Bacteria as large as mice,
With feet of fire and heads of ice
Who never interrupt for slumber
Their stamping elephantine rumba.

31. What is the emotion that the poet
displays in the first stanza?
(A) anger (B) Joy
(C) Jealousy (D) Sympathy

32. Why and at whom does the poet show
his emotion ?
(A) At an old man because he has

sneered at the poet
(B) At a doctor for an incorrect diagno-

sis of his medical condition
(C) At a friend who is happy at the

poet’s plight
(D) At a doctor who has said the poet

merely has a cold
33. The poet describes his eyes as ‘two red

redundant eyes’ because :
(A) he cannot see properly due to the

cold
(B) they show how furious the poet is
(C) they have been affected by an eye-

disease
(D) in his medical condition, the poet is

imagining things
34. ‘Bacteria is large as mice’ is an instance

of a/an :
(A) Simile and a Hyperbole
(B) Metaphor
(C) Personification
(D) Alliteration
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35. Who never interrupt for slumber ?
Their stamping elephantine rumba.’
The meaning of these lines is that :
(A) the bacteria are continuously

stamping their elephant-like feet
(B) the cold-causing germs are causing

much discomfort and pain to the
poet without any break

(C) the bacilli are so active that they
refuse to go to sleep

(D) the poet is not able to concentrate
on his work due to the raging cold

36. The general tone of the poem can be
described as :
(A) satirical and harsh
(B) ironical and mocking
(C) whimsical and humorous
(D) sad and tragic

Poem-8
Engrossed in thought of life and death,
I sat beside the dying bed.
Of a stubborn soul that would not quit,
Its frail and worn out aged shell,
Though gripped in writhing pain,
My thoughts then lifted me above
The din of the gathered multitude,
That broke the sacred solitude.
Of the struggling human soul,
At war with death itself.
At every breath it strove in vain,
To fight that dreadful foe.
Then each new breath did weaker grow,
Yet till the very end of it fought,
And fighting fell before its deathless foe.

37. The words “stubborn soul” refers to :
(A) a person afflicted with a dead by

disease and fighting in vain, death
(B) an argumentative person who does

not accept other points of view
(C) the soul which is stubborn and

fighting everything
(D) an adamant person who is refusing

to take medicines
38. Identify the figure of speech in the last

line.
(A) Metaphor (B) Simile
(C) Alliteration (D) Personification

39. ‘The din of the gathered multitude’
means :
(A) the noise of the people who have

gathered round the patient
(B) the noise made by a crowd in a

busy place
(C) the sound made by the audience

who have gathered
(D) the sound that broke the silence in

the room

40. ‘That dreadful foe’ refers to :
(A) a fierce animal
(B) a dangerous deadly illness
(C) death itself
(D) None of these

41. The ‘frail and worn out aged shell’ refers
to :
(A) a weak, old man’s body
(B) a weak, dilapidated shell
(C) a worn out shell of an animal
(D) None of the above

Poem-9
The Band Holders : A Tribute to

Caregivers
There is no job more important than
yours,
no job anywhere else in the land.
You are the keepers of the future;
you hold the smallest of hands
Into your care you are trusted
to nurture and care for the young,
and for all of your everyday heroics,
your talents and skills go unsung.
You wipe tears from the eyes of the in-
jured.
You rock babies brand new in your arms.
You encourage the shy and unsure child.
You make sure they are safe from all
harm.
You foster the bonds of friendships,
letting no child go away mad.
You respect and you honour their emo-
tions.
You give hugs to each child when they’re
sad.
You have more impact than does a pro-
fessor,
a child’s mind is moulded by four;
so whatever you lay on the table
is whatever the child will explore.
Give each child the tools for adventure,
let them be artists and writers and more;
let them fly on the wind and dance on
the stars
and build castles of sand on the shore.
It is true that you don’t make much
money
and you don’t get a whole lot of praise,
but when one small child says “I love
you”,
You’re reminded of how this job pays.

42. The expression ‘the smallest of hands’
refers to :
(A) babies
(B) caregivers with small hands
(C) parents with small hands
(D) people with small hands

43. Though caregivers look after the young
they are :
(A) never tired of their work
(B) not properly recognised
(C) not loved by the children under their

care
(D) paid very well in return

44. A caregiver has more influence on a child
than a professor because :
(A) the child generally prefers a

caregiver to a professor
(B) the professor is not capable of pro-

viding love to a child
(C) the child spends the formative

years with the caregiver
(D) the caregiver can teach better than a

professor
45. What is the most valuable gift that a

caregiver gets ?
(A) Acknowledgement of the society
(B) Praise from the parents
(C) Money for her services
(D) Love from children

46. ‘You give hugs to each child when
they’re sad’.
This act can be described as one of :
(A) Empathy (B) Encouragement
(C) Recrimination (D) Reassurance

47. ‘Letting no child go away mad’–the
meaning of this line is :
(A) No child is allowed to be angry for

long
(B) No child is permitted to go away

from school without permission
(C) No child is allowed to become mad
(D) No caregiver is permitted to be mad

with a child

Poem-10
It takes much time to kill a tree
Not a simple job of the knife
will do it. It has grown
Slowly consuming the earth,
Rising out of it, feeding
upon its crust, absorbing
Years of sunlight, air, water
And out of its leperous hide
Sprouting leaves.
So hack and chop
But this alone won’t do it
The bleeding bark will heal
And from close to the ground
Will rise curled green twigs
Miniature boughs
Which if unchecked will expand again
To former size.
No,
The root is to be pulled out.
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48. Killing a tree :
(A) is very easy
(B) is not as easy as one thinks
(C) requires a knife
(D) is a crime

49. If the tree is hacked, it will ....... itself
soon.
(A) heal (B) kill
(C) pull (D) green

50. The expression ‘to kill a tree’ suggests :
(A) the trees must be pulled out
(B) it is heinous to uproot a live tree
(C) killing a tree is easy
(D) None of the above

51. The expression ‘bleeding bark’ suggests :
(A) the tree also bleeds
(B) the tree gets hurt too
(C) blood will come out of its bark
(D) None of the above

52. ‘Job’ in the poem is used as :
(A) a noun (B) a verb
(C) a pronoun (D) an adjective

53. A tree can’t live without :
(A) sunlight, minerals, air
(B) air, water, minerals
(C) sunlight, air, water
(D) sunlight, water, minerals

Poem-11
Night

The sun descending in the west,
The evening star does shine;
The birds are silent in their nest,
And I must seek for mine;
The moon, like a flower,
In heaven’s high bower,
With silent delight
Sits and smiles on the night.
Farewell, green fields and happy groves,
Where flocks have took delight.

Where lambs have nibbled, silent moves
The feet of angels bright;
Unseen they pour blessing,
And joy without ceasing,
On each bud and blossom,
And each sleeping bosom.
They look in every thoughtless nest,
Where birds are covered warm;
They visit caves of every beast,
To keep them all from harm.
If they see any weeping
That should have been sleeping,
They pour sleep on their head,
And sit down by their bed

54. The evening star rises when–
(A) the birds leave their nests
(B) it is midnight
(C) it is down
(D) The sun descends in the west

55. Here ‘bower’ represents–
(A) a potted plant
(B) a framework that supports climbing

plants
(C) a bouquet of flowers
(D) a flower vase

56. The poet compares moon to–
(A) a flower
(B) a bird in the nest
(C) an evening star
(D) an angel

57. The angel come down on earth to–
(A) spread moonlight
(B) give blessing and joy
(C) make people dance and have fun
(D) take blessing and joy

58. ‘Birds’ nest is described as ‘thoughtless’
because–
(A) the angels are blessing the birds to

be happy
(B) the birds are covered in the warmth

of their nest

(C) it is made without any thought
(D) the occupants are asleep without any

care
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